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Example

1. In the following experiment, specify the appropriate

sample space : 

A person is noting down the number of accidents along

a busy highway during a year.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_YPONf5uIka3Y


2. In the following experiment, specify the appropriate

sample space : 

A boy has a 1 rupee coin, a 2 rupee coin and a 5 rupee

coin in his pocket. He takes two coins out of his pocket,

one after the other.

Watch Video Solution

3. Three coins are tossed simultaneously. Find the

sample space.

Watch Video Solution

https://dl.doubtnut.com/l/_YPONf5uIka3Y
https://dl.doubtnut.com/l/_Chf0iLZaBhKy
https://dl.doubtnut.com/l/_QT3qj91OkqrI
https://dl.doubtnut.com/l/_XbDv9zYWcxI9


4. A coin is tossed and then a die is rolled only in case

head is shown on the coin , describe the sample space

for the experiment.

Watch Video Solution

5. An experiment consists of recording boy-girl

composition of families with 2 children. 

What is the sample space if we are interested in

knowing whether it is a boy or a girl in the order of their

births ?

Watch Video Solution

https://dl.doubtnut.com/l/_XbDv9zYWcxI9
https://dl.doubtnut.com/l/_AiwVbrXioE6t


6. An experiment consists of recording boy-girl

composition of families with 2 children. 

What is the sample space if we are interested in the

number of girls in a family ?

Watch Video Solution

7. A bag contains 4 identical red balls and 3 identical

black balls. The experiment consists of drawing one ball,

then putting it into the bag and again drawing a ball.

What are the possible outcomes of the experiment ?

Watch Video Solution

https://dl.doubtnut.com/l/_7NXWc0yi25EW
https://dl.doubtnut.com/l/_VDH42Dd1gUK1
https://dl.doubtnut.com/l/_Lu0r0MByyXNo


8. The numbers 1,2,3 and 4 are written separatley on

four slips of paper. The slips are put in a box and mixed

throughly. A person draws two slips from the box, one

after the other without replacement. Describe the

sample space for the experiment.

Watch Video Solution

9. A die is thrown repeatedly until a six comes up. What

is the sample space for the this experiment?

Watch Video Solution

https://dl.doubtnut.com/l/_Lu0r0MByyXNo
https://dl.doubtnut.com/l/_kyOcN4dZcyqf


10. Write the sample space of the following Random

experiment : 

A coin is tossed two times.

Watch Video Solution

11. The number of elements in a sample space when a

coin is tossed and a die is thrown are

Watch Video Solution

12. Describe the sample space for the indicated

experiment, 

https://dl.doubtnut.com/l/_ALXwNAWH5T1A
https://dl.doubtnut.com/l/_BtUJK3hWDnMp
https://dl.doubtnut.com/l/_If4ew3wzArXe


A coin is tossed three times.

Watch Video Solution

13. Write the sample space of the following Random

experiment : 

A coin is tossed once.

Watch Video Solution

14. Write the sample space of the following Random

experiment : 

A die is thrown once.

Watch Video Solution

https://dl.doubtnut.com/l/_If4ew3wzArXe
https://dl.doubtnut.com/l/_uin2Yj1LbFoc
https://dl.doubtnut.com/l/_QCasRGbilVWv


15. An experiment involves rolling a pair of dice and

recording the numbers that come up. Describe the

following events :
 A: the sum is greater than 8, B: 2

occurs on either die C: the sum is the least 7 and a

multiple of 3.
Also find  and .

Watch Video Solution

A ∩ B, B ∩ C A ∩ C

16. An experiment involves rolling a pair of dice and

recording the numbers that come up. Describe the

following events :
 A: the sum is greater than 8, B: 2

occurs on either die C: the sum is the least 7 and a

https://dl.doubtnut.com/l/_QCasRGbilVWv
https://dl.doubtnut.com/l/_HXEJoeQtOuzI
https://dl.doubtnut.com/l/_RKJj4cQZGx7e


multiple of 3. Which pairs of three events are mutually

exclusive?

Watch Video Solution

17. Two dice are rolled. Let A, B and C be the events of

getting a sum 2, a sum 3 and a sum 4 respectively. 

Is event A simple ?

Watch Video Solution

18. Two dice are rolled. Let A, B and C be the events of

getting a sum 2, a sum 3 and a sum 4 respectively. 

Is event B simple ?

https://dl.doubtnut.com/l/_RKJj4cQZGx7e
https://dl.doubtnut.com/l/_RgKsxLxMIXmC
https://dl.doubtnut.com/l/_mAIb1iaYVrL6


Watch Video Solution

19. Two dice are rolled. Let A, B and C be the events of

getting a sum 2, a sum 3 and a sum 4 respectively. 

Is event C compound ?

Watch Video Solution

20. Two dice are rolled. Let A, B and C be the events of

getting a sum 2, a sum 3 and a sum 4 respectively. 

Are events A and B mutually exclusive ?

Watch Video Solution

https://dl.doubtnut.com/l/_mAIb1iaYVrL6
https://dl.doubtnut.com/l/_jzd24uXoaxgY
https://dl.doubtnut.com/l/_lV3j3CB79mAB


21. A coin is tossed three times.
 Consider the following

events : A : No head appears
 B : Exactly one head

appears
 C : At least two heads appear.
 Do they form a

set of mutually exclusive and exhaustive events ?

Watch Video Solution

22. Let a sample space be :
 .

Which of the following assignments of probabilities to

each outcome are valid ?

A. 

B. 

C. 

S = {ω1, ω2, ........., ωn}

P (ω1) = , P (ω2) = , P (ω3) =
1

2

1

3

2

3

P (ω1) = , P (ω2) = , P (ω3) =
1

3

1

3

1

4

P (ω1) = , P (ω2) = , P (ω3) = −
1

2

1

3

1

6

https://dl.doubtnut.com/l/_4pM86sKhIWU5
https://dl.doubtnut.com/l/_TD6F4HNmAJak


D. 

Answer:

Watch Video Solution

P (ω1) = , P (ω2) = , P (ω3) =
1

2

1

3

1

6

23. A die is thrown, find the probability of following

events:

A prime number will appear.

Watch Video Solution

24. A die is thrown, find the probability of following

events:

https://dl.doubtnut.com/l/_TD6F4HNmAJak
https://dl.doubtnut.com/l/_yhOuKe0UKhFT
https://dl.doubtnut.com/l/_ocz2D8Ss9pEC


A number greater than or equal to 3 will appear.

Watch Video Solution

25. A die is thrown, find the probability of following

events:

A number less than or equal to one will appear.

Watch Video Solution

26. A die is thrown, find the probability of following

events:

A number more than 6 will appear.

Watch Video Solution

https://dl.doubtnut.com/l/_ocz2D8Ss9pEC
https://dl.doubtnut.com/l/_YpDi7h2NG028
https://dl.doubtnut.com/l/_P7MMRafVBM2F


27. A die is thrown, find the probability of following

events:

A number less than 6 will appear.

Watch Video Solution

28. One card is drawn from a well shuffled deck of 52

cards. If each outcome is equally likely, calculate the

probability that the card will be: a diamond.

Watch Video Solution

https://dl.doubtnut.com/l/_P7MMRafVBM2F
https://dl.doubtnut.com/l/_nfURyuAuE2s7
https://dl.doubtnut.com/l/_1sjpobKbL3Hh


29. One card is drawn from a well shuffled deck of 52

cards. If each outcome is equally likely, calculate the

probability that the card will be: not an ace.

Watch Video Solution

30. One card is drawn from a well shuffled deck of 52

cards. If each outcome is equally likely, calculate the

probability that the card will be: a black card (i.e. a club

or a spade)

Watch Video Solution

https://dl.doubtnut.com/l/_2snuX8EeUaIA
https://dl.doubtnut.com/l/_xTiuZAJB4xM8


31. One card is drawn from a well shuffled deck of 52

cards. If each outcome is equally likely, calculate the

probability that the card will be: not a black card.

Watch Video Solution

32. A bag contains 5 black and 3 white balls. Two balls

are drawn at random. Find the probability of drawing

two black balls.

Watch Video Solution

https://dl.doubtnut.com/l/_kw0PBkdllwUI
https://dl.doubtnut.com/l/_BRvdv1bkZIkV


33. A bag contains 5 black and 3 white balls. Two balls

are drawn at random. Find the probability of drawing

two white balls.

Watch Video Solution

34. The letters of the word ‘SOCIETY’ are placed at

random in a row. What is the probability that the three

vowels come together ?

Watch Video Solution

https://dl.doubtnut.com/l/_CTwGBgccIID6
https://dl.doubtnut.com/l/_ktlKvzKLrweR


35. What is the chance that a non-leap year selected at

random will contain 53 Sundays ?

Watch Video Solution

36. In a toss of two coins, find the probability of getting

both heads or both tails.

Watch Video Solution

37. Four coins are tossed simultaneously. Write the

sample space and then complete the following table : 

https://dl.doubtnut.com/l/_rmS0McoQ8Dec
https://dl.doubtnut.com/l/_8XhwYAA6gg0P
https://dl.doubtnut.com/l/_mmmVSt1Orrlp


Watch Video Solution

38. A card is drawn at random from a well shuffled deck

of 52 cards. If A is the event of getting a red card and

the event B that a card is bearing a number greater

than 2 but less than 9, find P (A) and P (B).

Watch Video Solution

39. Two dice are thrown simultaneously. Find the

probability of getting eight as the sum.

Watch Video Solution

https://dl.doubtnut.com/l/_mmmVSt1Orrlp
https://dl.doubtnut.com/l/_Hc5maIeQro7o
https://dl.doubtnut.com/l/_kxVFduIDUeUJ
https://dl.doubtnut.com/l/_fl5PUVJxkuX6


40. Two dice are thrown simultaneously. Find the

probability of getting six as a product.

Watch Video Solution

41. In a single throw of three dice, find the probability of

not showing the same number on all the dice.

Watch Video Solution

42. A class consists of 10 boys and 8 girls. Three

students are selected at random. Find the probability

that the selected group has : all Boys.

Watch Video Solution

https://dl.doubtnut.com/l/_fl5PUVJxkuX6
https://dl.doubtnut.com/l/_rpJQRyE4IVml
https://dl.doubtnut.com/l/_ICfB8aKp4HG1


43. A class consists of 10 boys and 8 girls. Three students

are selected at random. Find the probability that the

selected group has : all girls.

Watch Video Solution

44. A class consists of 10 boys and 8 girls. Three

students are selected at random. Find the probability

that the selected group has : 2 boys and 1 girl.

Watch Video Solution

https://dl.doubtnut.com/l/_ICfB8aKp4HG1
https://dl.doubtnut.com/l/_8pv59yr66FIT
https://dl.doubtnut.com/l/_wmlYK4Xcq8dv


45. A certain team wins with probability 0.7, loses with

probability 0.2 and ties with probability 0.1. The team

plays three games. Find the probability that the team

wins at least two of the games, but not lose.

Watch Video Solution

46. A bag contains 20 tickets numbered 1 to 20. Two

tickets are drawn at random . Find the probability that

both the numbers on the
ticket are prime.

Watch Video Solution

https://dl.doubtnut.com/l/_lusSJyOgxtFT
https://dl.doubtnut.com/l/_JA4fNk9XPD7X


47. A bag contains 8 red, 3 white and 9 blue balls. Three

balls are drawn at random from the bag. Determine the

probability that none of the balls is white .

Watch Video Solution

48. A bag contains 50 tickets numbered 1, 2, 3, .., 50 of

which 5 are drawn at random and arranged in ascending

order of magnitude 
 Find the

probability that  


a. 



b. 


c. 


d. None of these

x1 < x2 < x3 < x4 < x5

x3 = 30.

.20 C2 × .29 C2

.50 C5

.20 C2

.50 C5

.29 C2

.50 C5

https://dl.doubtnut.com/l/_sbCVINNMtAMa
https://dl.doubtnut.com/l/_IXD8H6kUrazD


Watch Video Solution

49. Find the probability of 4 turning for at least once in

two tosses of a fair die.

Watch Video Solution

50. A card is selected from a pack of 52 cards. How many

points are there in the sample space ?

Watch Video Solution

https://dl.doubtnut.com/l/_IXD8H6kUrazD
https://dl.doubtnut.com/l/_9gq2HR7P6chV
https://dl.doubtnut.com/l/_P1GWBKUiNoqm


51. A card is selected from a pack of 52 cards. Calculate

the probability that the card is an ace of spades.

Watch Video Solution

52. One card is drawn from a well shuffled deck of 52

cards. Calculate the probability that the card will be an

ace.

Watch Video Solution

53. A card is selected from a pack of 52 cards. Calculate

the probability that the card is : black card.

W h Vid S l i

https://dl.doubtnut.com/l/_wyqBkYdn03Fu
https://dl.doubtnut.com/l/_akJ142xLzVz3
https://dl.doubtnut.com/l/_GixJtPiP7Qs8


Watch Video Solution

54. A five digit number is formed by the digit 1,2,3,4 and

5 without repetition. Find the probability that the

number formed is divisible by 4.

Watch Video Solution

55. A committee of two persons is selected from two

men and two women. What is the probability that the

committee will have

no man?

Watch Video Solution

https://dl.doubtnut.com/l/_GixJtPiP7Qs8
https://dl.doubtnut.com/l/_m3h2u0KskpPc
https://dl.doubtnut.com/l/_pW5sJJIaMD6Z
https://dl.doubtnut.com/l/_yqgwfB4qV7fr


56. A committee of two persons is selected from two

men and two women. What is the probability that the

committee will have

one man?

Watch Video Solution

57. A committee of two is selected from two men and

two women. What is the probability that the committee

will have : two men ?

Watch Video Solution

https://dl.doubtnut.com/l/_yqgwfB4qV7fr
https://dl.doubtnut.com/l/_SCSB2mz9ZdaO


58. If the odds in favour of an event are 4 : 5, find the

probability that‘it will occur.

Watch Video Solution

59. There are three events  and  one of which

must, and only one can happen. The odds are 7 to 4

against  and 5 to 3 against . Find odds against .

Watch Video Solution

E1, E2 E3

E1 E2 E3

https://dl.doubtnut.com/l/_2J4M11vBNNQc
https://dl.doubtnut.com/l/_rS99MQljc13k


60. Fill in the blanks in the following table : 

Watch Video Solution

61. A and B are two mutually exclusive events, for which

P (A) = 0.3, P (B) = p and  = 0.5. Find the value

of p.

Watch Video Solution

P (A ∪ B)

https://dl.doubtnut.com/l/_eufKUzeXD2kw
https://dl.doubtnut.com/l/_Ayb7lk7yug6O
https://dl.doubtnut.com/l/_x53qRPIJlqjH


62. In a class of 25 students with roll numbers 1 to 25, a

student is picked up at random to answer a question.

Find the probability that the roll number of the Selected

student is either a multiple of 5 or of 7.

Watch Video Solution

63. Tickets are numbered from 1 to 100. One ticket is

picked up at random. Find the probability that the ticket

picked up has a number, which is divisible by 5 or 8.

Watch Video Solution

https://dl.doubtnut.com/l/_x53qRPIJlqjH
https://dl.doubtnut.com/l/_7EKijKz4kq7J


64. Two dice are toosed once. Find the probability of

getting 'an even number on the first dice or a total of 8'

Watch Video Solution

65. In a single throw of two dice, find the probability

that neither a doublet nor a total of 10 will appear.

Watch Video Solution

66. In class XI of a school 40% of the students study

Mathematics and 30% study Biology 10% of the class

study both Mathematics and Biology. If a student is

https://dl.doubtnut.com/l/_lDlChtGrcSMp
https://dl.doubtnut.com/l/_g4SUEe0ZJO3J
https://dl.doubtnut.com/l/_sBZvOHxNTPhL


selected at random from the class, find the probability

that he will be studying Mathematics or Biology.

Watch Video Solution

67. A box contains 100 bolts and 50 nuts. It is given that

50% bolts and 50% nuts are rusted. Two objects are

selected from the box at random. Find the probability

that both are bolts or both are rusted.

Watch Video Solution

68. Two students Anil and Ashima appeared in an

examination. The probabilities that Anil will qualify the

https://dl.doubtnut.com/l/_sBZvOHxNTPhL
https://dl.doubtnut.com/l/_pDxV9ZadhxjH
https://dl.doubtnut.com/l/_jKStPSQWtipv


examination is 0.05 and that Ashima will qualify the

examination is 0.10. The probabilities that both will

qualify the examination is 0.02. Find the probability that

a) Both Anil and Ashima will not qualify the examination.

b) Atleast one of them will not qualify the examination.

Watch Video Solution

69. Two students Anil and Ashima appeared in an

examination. The probability that Anil will qualify the

examination is 0.05 and that Ashima will qualify the

examination is 0.10. The probability that both will qualify

the examination is 0.02. Find the probability that : at

least one of them will not qualify the examination.

Watch Video Solution

https://dl.doubtnut.com/l/_jKStPSQWtipv
https://dl.doubtnut.com/l/_1UhYXikHK2JH


Watch Video Solution

70. Two students Anil and Ashima appeared in an

examination. The probability that Anil will qualify the

examination is 0.05 and that Ashima will qualify the

examination is 0.10. The probability that both will qualify

the examination is 0.02. Find the probability that : only

one of them will qualify the examination.

Watch Video Solution

71. In a given race, the odds in favour of horses A, B, C, D

are 1:3, 1:4, 1:5 and 1:6 respectively. Find the probability

that one of the them wins the race.

W h Vid S l i

https://dl.doubtnut.com/l/_1UhYXikHK2JH
https://dl.doubtnut.com/l/_aHOxRPFD6hCQ
https://dl.doubtnut.com/l/_6qTHCTV0NYnJ


Exercise

Watch Video Solution

1. Write the sample space of the following Random

experiment : 

A coin is tossed two times.

Watch Video Solution

2. Describe the sample space for the indicated

experiment, 

A coin is tossed three times.

Watch Video Solution

https://dl.doubtnut.com/l/_6qTHCTV0NYnJ
https://dl.doubtnut.com/l/_uQYSYLIO9TY6
https://dl.doubtnut.com/l/_7HJTb3ivI8fY


3. Describe the sample space for the indicated

experiment in the following : 

A coin is tossed : four times.

Watch Video Solution

4. Describe the sample space for the indicated

experiment in the following : 

Consider the experiment in which a coin is tossed

repeatedly until a head comes up .

Watch Video Solution

https://dl.doubtnut.com/l/_7HJTb3ivI8fY
https://dl.doubtnut.com/l/_6FvlKGNkfvPT
https://dl.doubtnut.com/l/_RkqC9D0UnFOA
https://dl.doubtnut.com/l/_wzxQG9guwFgA


5. Describe the sample space for the indicated

experiment in the following : 

A die is thrown twice.

Watch Video Solution

6. Describe the sample space for the indicated

experiment in the following : 

Two coins (a one rupee and a two rupee coin) are tossed

once.

Watch Video Solution

https://dl.doubtnut.com/l/_wzxQG9guwFgA
https://dl.doubtnut.com/l/_RvjMYgR4L0ri


7. Describe the sample space for the indicated

experiment in the following : 

A coin is tossed and a die is thrown.

Watch Video Solution

8. Describe the sample space for the indicated

experiment in the following : 

Select two persons from a group of 3 boys and 2 girls.

Watch Video Solution

https://dl.doubtnut.com/l/_rI2YnZkocp6N
https://dl.doubtnut.com/l/_HfsUhYOo1VXv


9. Describe the sample space for the indicated

experiment in the following : 

A die is thrown once.

Watch Video Solution

10. 2 boys and 2 girls are in room X, and 1 boy and 3 girls

in room Y. Specify the sample space for the experiment

in which a room is selected and then a person.

Watch Video Solution

https://dl.doubtnut.com/l/_aKE0aB1vDLDv
https://dl.doubtnut.com/l/_TDDe1cfyv7Pe


11. A box contains 1 red and 3 identical white balls. Two

balls are drawn at random in succession (one after the

other) without replacement. Write the sample space for

this experiment.

Watch Video Solution

12. An experiment consists of tossing a coin and then

throwing it second time if a head occurs. If a tail occurs

on the first toss, then a die is rolled once. Find the

sample space.

Watch Video Solution

https://dl.doubtnut.com/l/_r6qGFSnaqYR9
https://dl.doubtnut.com/l/_hm1Elo4OlSEj
https://dl.doubtnut.com/l/_xzYqSmFPGHwo


13. A coin is tossed. If it shows a head, we draw a ball

from a bag consisting of 3 blue and 4 white balls, if it

shows tail we throw a die. Describe the sample space of

this experiment .

Watch Video Solution

14. One die of red colour, one white and one of blue are

placed in a bag. One die is selected at random and

rolled, its colour and the number on its uppermost face

is noted. Describe the sample space .

Watch Video Solution

https://dl.doubtnut.com/l/_xzYqSmFPGHwo
https://dl.doubtnut.com/l/_Xi52dsOVcB5k


15. An experiment consists of rolling a die and then

tossing a coin once, if the number on the die is even. If

the number on the die is odd the coin is tossed twice.

Write the sample space for this experiment.

Watch Video Solution

16. Suppose 3 bulbs are selected at random from a lot.

Each bulb is tested and classified as defective (D) or non-

defective (N). Write the sample space of this experiment.

Watch Video Solution

https://dl.doubtnut.com/l/_8ezkLxfNTIBJ
https://dl.doubtnut.com/l/_GO2apK249Ci7


17. A coin is tossed. If the outcome is a head, a die is

thrown. If the die shows up an even number, the die is

thrown again. What is the sample space for the

experiment?

Watch Video Solution

18. A coin is tossed. If it shows tail, we draw a ball from a

box which contains 2 red and 3 black balls If it shows

head we throw a die Find the sample space for this

experiment ?

Watch Video Solution

https://dl.doubtnut.com/l/_wCvchMITEK7Q
https://dl.doubtnut.com/l/_5KDQ5EGuG4dT
https://dl.doubtnut.com/l/_mnPPmWULcvXu


19. Find the sample space associated with the

experiment of rolling a pair of dice (plural of die) once.

Also find the number of elements of the sample space.

Watch Video Solution

20. A coin is tossed once. Write its sample space. Find

the total number of events.

Watch Video Solution

21. A die is rolled. Let E be the event "die shows 4" and F

be the event "die shows even number". Are E and F

mutually exclusive ?

https://dl.doubtnut.com/l/_mnPPmWULcvXu
https://dl.doubtnut.com/l/_WHFmO4A06xSo
https://dl.doubtnut.com/l/_wK76wJHggac3


Watch Video Solution

22. Consider the experiment of rolling a die. Let A be the

event “getting a prime number, B be the event “getting

an odd number.” Write the sets representing the event :

A or B.

Watch Video Solution

23. Consider the experiment of rolling a die. Let A be the

event “getting a prime number, B be the event “getting

an odd number.” Write the sets representing the event :

A and B.

Watch Video Solution

https://dl.doubtnut.com/l/_wK76wJHggac3
https://dl.doubtnut.com/l/_Yn59ITifZfIw
https://dl.doubtnut.com/l/_kSHff1FBC408


24. Consider the experiment of rolling a die. Let A be the

event “getting a prime number, B be the event “getting

an odd number.” Write the sets representing the event :

A but not B.

Watch Video Solution

25. Consider the experiment of rolling a die. Let A be the

event “getting a prime number, B be the event “getting

an odd number.” Write the sets representing the event :

not A.

Watch Video Solution

https://dl.doubtnut.com/l/_kSHff1FBC408
https://dl.doubtnut.com/l/_nt9592nStSxs
https://dl.doubtnut.com/l/_KWvnkCHiYYUn


26. A die is thrown. Describe the following event : 

A: a number less than 7.

Watch Video Solution

27. A die is thrown. Describe the following events : 

(i) A : a number less than 7. 

(ii) B : a number greater than 7. 

(iii) C : a multiple of 3. 

(iv) D : a number, less than 4. 

(v) E : an even number greater than 4. 

(vi) F : a number not less than 3.

Watch Video Solution

https://dl.doubtnut.com/l/_zEPoFmtRcrTp
https://dl.doubtnut.com/l/_HLpC3aCKTyYD


28. A die is thrown. Describe the following event : 

C : a multiple of 3.

Watch Video Solution

29. A die is thrown. Describe the following event : 

D: a number less than 4.

Watch Video Solution

30. A die is thrown. Describe the following event : 

E: an even number greater than 4.

Watch Video Solution

https://dl.doubtnut.com/l/_lLKl9XOJCH7m
https://dl.doubtnut.com/l/_lhie4bVGW22J
https://dl.doubtnut.com/l/_7EHud1LbWhQ0


31. A die is thrown. Describe the following event : 

F: a number not less than 3.

Watch Video Solution

32. A die is thrown. Following are events : 

(i) A:a number less than 7
(ii) B: a number greater than 7

(iii) C : a multiple of 3
(iv) D: a number less than 4
(v) E:

an even number greater than 4
(vi) F: a number not less

than 3.
 Find

.

Watch Video Solution

A ∪ B, A ∩ B, E ∪ F , D ∩ E, A − C, D − E, F ' , E ∩ F '

https://dl.doubtnut.com/l/_7EHud1LbWhQ0
https://dl.doubtnut.com/l/_ssJSvUlXbDNc
https://dl.doubtnut.com/l/_hQzrphVHla6x


33. A die is thrown twice. Each time the number

appearing on it is recorded. Describe the events :
 A :

both numbers are odd
 B : both numbers are even
 C :

sum of numbers is less than 6.
 Describe

.

Watch Video Solution

A ∪ B, A ∩ B, A ∪ C, A ∩ C

34. A die is thrown twice. Each time the number

appearing on it is recorded. Describe the events :
 A :

both numbers are odd
 B : both numbers are even
 C :

sum of numbers is less than 6.
Which pairs of events are

mutually exclusive ?

https://dl.doubtnut.com/l/_hQzrphVHla6x
https://dl.doubtnut.com/l/_oNQzMxUfq5EU
https://dl.doubtnut.com/l/_T9juQfdnIKDV


Watch Video Solution

35. Two dice are thrown and the sum of the numbers

which come up on the dice is noted. Let us consider the

following events associated with this experiment :
 A :

the sum is even
B : the sum is a multiple of 3
C : the sum

is less than 4
 D : the sum is greater than 11.
 Which of

these events are mutually exclusive ?

Watch Video Solution

36. A coin is tossed once. Then, if it turns up a head a die

is thrown once : if it turns up a tail it is tossed twice

more. Describe : the sample space S of the experiment.

https://dl.doubtnut.com/l/_T9juQfdnIKDV
https://dl.doubtnut.com/l/_6GXKWSSxhK5R
https://dl.doubtnut.com/l/_mcHeWnNvua4X


Watch Video Solution

37. A coin is tossed once. Then, if it turns up a head a die

is thrown once : if it turns up a tail it is tossed twice

more. Describe : the event A “that exactly one head

occurs”

Watch Video Solution

38. A coin is tossed once. Then, if it turns up a head a die

is thrown once : if it turns up a tail it is tossed twice

more. Describe : the event B “that at least two tails

occur or a number greater than 4 occurs.”

Watch Video Solution

https://dl.doubtnut.com/l/_mcHeWnNvua4X
https://dl.doubtnut.com/l/_ekfKzEkRvJbi
https://dl.doubtnut.com/l/_Dm5qXIsSNBf8


Watch Video Solution

39. A die is thrown. Describe the following event : 

A: a number less than 7.

Watch Video Solution

40. A die is thrown. Describe the following event : 

C : a multiple of 3.

Watch Video Solution

41. A die is thrown. Describe the following event : 

C : a number not less than 4.

https://dl.doubtnut.com/l/_Dm5qXIsSNBf8
https://dl.doubtnut.com/l/_ZLDYoFmufgBF
https://dl.doubtnut.com/l/_Wf6n4mgPwsu7
https://dl.doubtnut.com/l/_bNNyGEY7LKZG


Watch Video Solution

42. A die is thrown. Describe the following event : 

D : an odd number greater than 2.

Watch Video Solution

43. A die is thrown. Describe the following event : 

E: an even number greater than 2.

Watch Video Solution

https://dl.doubtnut.com/l/_bNNyGEY7LKZG
https://dl.doubtnut.com/l/_JZ94Lq1p9zj6
https://dl.doubtnut.com/l/_jhjbz2SOyc7A


44. A pair of dice is thrown. Find the following event : 

Same numbers on both the dice.

Watch Video Solution

45. A pair of dice is thrown. Find the following event : 

The sum is greater than 10.

Watch Video Solution

46. A pair of dice is thrown. Find the following event : 

Even numbers on both the dice.

Watch Video Solution

https://dl.doubtnut.com/l/_9YaEHjijY9c6
https://dl.doubtnut.com/l/_VL5yVY2T2M8H
https://dl.doubtnut.com/l/_pAfcrSDLd4cS


47. A pair of dice is thrown. Find the following event : 

Odd numbers on both the dice.

Watch Video Solution

48. A pair of dice is thrown. Find the following event : 

The sum is 7.

Watch Video Solution

49. From a group of 2 boys and 3 girls, two children are

selected at random. Describe the event : 

A: both selected children are girls

https://dl.doubtnut.com/l/_pAfcrSDLd4cS
https://dl.doubtnut.com/l/_VK7jEGjTquMI
https://dl.doubtnut.com/l/_6BeuGiLh3ZGD
https://dl.doubtnut.com/l/_ht3DaGeTSYa9


Watch Video Solution

50. From a group of 2 boys and 3 girls, two children are

selected at random. Describe the event : 

B: the selected group consists of one boy and one girl.

Watch Video Solution

51. From a group of 2 boys and 3 girls, two children are

selected at random. Describe the event : 

C: at least one boy is selected.

Watch Video Solution

https://dl.doubtnut.com/l/_ht3DaGeTSYa9
https://dl.doubtnut.com/l/_1kRVrtj9SmsV
https://dl.doubtnut.com/l/_xCZukDMc1noc
https://dl.doubtnut.com/l/_2ldfJSbgcfx9


52. Three coins are tossed once. Let A denote the event

"three heads show", B denote the event "two heads and

one tail show", C denote the event "three tails show and

D denote the event "a head shows on the first coin". 

Which events are 

(i) mutually exclusive ? (ii) in simple ? (iii) compound ?

Watch Video Solution

53. Three coins are tossed once. Let A denote the event

"Three heads snow”, B denote the event “two heads and

one tail show”, C denote the event” three tails show and

D denote the event 'a head shows on the first coin”.

Which events are simple?

W h Vid S l i

https://dl.doubtnut.com/l/_2ldfJSbgcfx9
https://dl.doubtnut.com/l/_ks3A5ABQV82d


Watch Video Solution

54. Three coins are tossed once. Let A denote the event

"Three heads snow”, B denote the event “two heads and

one tail show”, C denote the event” three tails show and

D denote the event 'a head shows on the first coin”.

Which events are Compound?

Watch Video Solution

55. Three coins are tossed. Describe : two events, which

are mutually exclusive.

Watch Video Solution

https://dl.doubtnut.com/l/_ks3A5ABQV82d
https://dl.doubtnut.com/l/_fQewlr0AjjZF
https://dl.doubtnut.com/l/_BkUQJ1RtQUyo
https://dl.doubtnut.com/l/_fmSKvxBuL491


56. Three coins are tossed. Describe : three events, which

are mutually exclusive and exhaustive.

Watch Video Solution

57. Three coins are tossed. Describe : two events, which

are not mutually exclusive.

Watch Video Solution

58. Three coins are tossed. Describe : two events, which

are mutually exclusive but not exhaustive.

Watch Video Solution

https://dl.doubtnut.com/l/_fmSKvxBuL491
https://dl.doubtnut.com/l/_jHMXZ1HrLW63
https://dl.doubtnut.com/l/_NqB5T0Og8vtW


59. Three coins are tossed. Describe : three events, which

are mutually exclusive but not exhaustive.

Watch Video Solution

60. Two dice are thrown. The events A, B, C are as

follows: 

A: getting an even number on the first die. 

B : getting an odd number on the first die. 

C : getting the sum of the number on the dice  5. 

Describe the events 

(i) A' (ii) not B (iii) A or B (iv) A and B (v) A but not C (vi)

.

Watch Video Solution

≤

A ∩ B' ∩ C' = ϕ

https://dl.doubtnut.com/l/_5jdxGo6j1FkQ
https://dl.doubtnut.com/l/_6kTNJh4pgoYC


61. Two dice are thrown. The events A, B, C, are as A:

getting an even number on the first die
 B : getting an

odd number on the first die
 C : getting the sum of the

numbers on the dice 
Describe the event : not B.

Watch Video Solution

≤ 5

62. Two dice are thrown. The events A, B, C, are as A:

getting an even number on the first die
 B : getting an

odd number on the first die
 C : getting the sum of the

numbers on the dice 
Describe the event : A or B.

Watch Video Solution

≤ 5

https://dl.doubtnut.com/l/_6kTNJh4pgoYC
https://dl.doubtnut.com/l/_PMISv1aFNiyv
https://dl.doubtnut.com/l/_IQx8IFPrD0cu


63. Two dice are thrown. The events A, B, C, are as A:

getting an even number on the first die
 B : getting an

odd number on the first die
 C : getting the sum of the

numbers on the dice 
Describe the event : A and B.

Watch Video Solution

≤ 5

64. Two dice are thrown. The events A, B, C are as

follows: 

A: getting an even number on the first die. 

B : getting an odd number on the first die. 

C : getting the sum of the number on the dice  5. 

Describe the events 

≤

https://dl.doubtnut.com/l/_CV6Kvdr0Sdnp
https://dl.doubtnut.com/l/_xDrNUIdVUal4


(i) A' (ii) not B (iii) A or B (iv) A and B (v) A but not C (vi)

.

Watch Video Solution

A ∩ B' ∩ C' = ϕ

65. Two dice are thrown. The events A, B, C, are as A:

getting an even number on the first die
 B : getting an

odd number on the first die
 C : getting the sum of the

numbers on the dice 
Describe the event : B or C.

Watch Video Solution

≤ 5

66. Two dice are thrown. The events A, B, C, are as A:

getting an even number on the first die
 B : getting an

https://dl.doubtnut.com/l/_xDrNUIdVUal4
https://dl.doubtnut.com/l/_EZco92ZWxIvW
https://dl.doubtnut.com/l/_0EDP00u9VT5n


odd number on the first die
 C : getting the sum of the

numbers on the dice 
Describe the event : B and C

Watch Video Solution

≤ 5

67. Two dice are thrown. The events A, B, C, are as A:

getting an even number on the first die
 B : getting an

odd number on the first die
 C : getting the sum of the

numbers on the dice 
 Describe the event : 

 .

Watch Video Solution

≤ 5

A ∩ B' ∩ C'

https://dl.doubtnut.com/l/_0EDP00u9VT5n
https://dl.doubtnut.com/l/_7eQ1Vq9QglSy


68. Two dice are thrown. The events A, B and C are as

follows :
 A : getting an even number on the first die
 B:

getting an odd number on the first die
 C : getting the

sum of numbers on the dice . State true or false

(give reason for your answer): A and B are mutually

exclusive.

Watch Video Solution

≤ 5

69. Two dice are thrown. The events A, B and C are as

follows :
 A : getting an even number on the first die
 B:

getting an odd number on the first die
 C : getting the

sum of numbers on the dice . State true or false≤ 5

https://dl.doubtnut.com/l/_sTpOSiByqToD
https://dl.doubtnut.com/l/_d1u14MVXfpIK


(give reason for your answer): A and B are mutually

exclusive and exhaustive.

Watch Video Solution

70. Two dice are thrown. The events A, B and C are as

follows :
 A : getting an even number on the first die
 B:

getting an odd number on the first die
 C : getting the

sum of numbers on the dice . State true or false

(give reason for your answer): A and B are mutually

exclusive.

Watch Video Solution

≤ 5

https://dl.doubtnut.com/l/_d1u14MVXfpIK
https://dl.doubtnut.com/l/_lQoq341tFw0P


71. Two dice are thrown. The events A, B and C are as

follows :
 A : getting an even number on the first die
 B:

getting an odd number on the first die
 C : getting the

sum of numbers on the dice . State true or false

(give reason for your answer): A and B are mutually

exclusive and exhaustive.

Watch Video Solution

≤ 5

72. Two dice are thrown. The events A, B and C are as

follows :
 A : getting an even number on the first die
 B:

getting an odd number on the first die
 C : getting the

sum of numbers on the dice . State true or false≤ 5

https://dl.doubtnut.com/l/_kl3N7TzcTgxO
https://dl.doubtnut.com/l/_jpNKKkV0c1hR


(give reason for your answer): A and B are mutually

exclusive and exhaustive.

Watch Video Solution

73. Two dice are thrown. The events A, B and C are as

follows :
 A : getting an even number on the first die
 B:

getting an odd number on the first die
 C : getting the

sum of numbers on the dice . State true or false

(give reason for your answer): A and B are mutually

exclusive and exhaustive.

Watch Video Solution

≤ 5

https://dl.doubtnut.com/l/_jpNKKkV0c1hR
https://dl.doubtnut.com/l/_OAaIsSn3onoJ


74. Which of the following can not valid assignments for

outcomes of sample space,

 


Watch Video Solution

S = {ω1, ω2, ω3, ω4, ω5, ω6, ω7}

75. Whether the following cannot be the probability of

occurrence of an event : .

Watch Video Solution

2

3

https://dl.doubtnut.com/l/_EL1fKsYsNduu
https://dl.doubtnut.com/l/_gcC7yyfzyKtZ


76. Which of the following is not a probability of the

occurrence of an event?

0

Watch Video Solution

77. Whether the following cannot be the probability of

occurrence of an event : .

Watch Video Solution

−2

3

78. Whether the following cannot be the probability of

occurrence of an event : .

W h Vid S l i

3

2

https://dl.doubtnut.com/l/_ltKNoYD4Sedo
https://dl.doubtnut.com/l/_arBRqgwlb0ek
https://dl.doubtnut.com/l/_56Lhm97jR1JR


Watch Video Solution

79. If  is the probability of an event A what is the

probability of the event not A.

Watch Video Solution

3

5

80. A die is tossed once. The probability of getting an

even number is :

Watch Video Solution

81. A die is tossed once. What is the probability of : 

getting the number 8.

https://dl.doubtnut.com/l/_56Lhm97jR1JR
https://dl.doubtnut.com/l/_01f6v3stUWkK
https://dl.doubtnut.com/l/_GP9OGelwG9qM
https://dl.doubtnut.com/l/_fORWGovY7LtO


Watch Video Solution

82. A die is tossed once. What is the probability of : 

getting the number less than 8.

Watch Video Solution

83. A coin is tossed twice, what is the probability that

atleast one tail occurs ?

Watch Video Solution

https://dl.doubtnut.com/l/_fORWGovY7LtO
https://dl.doubtnut.com/l/_uY12DUXPGGtT
https://dl.doubtnut.com/l/_1MtMEe20sieh


84. If a letter is Chosen at random from the English

alphabet, find the probability that the letter is : a vowel.

Watch Video Solution

85. If a letter is Chosen at random from the English

alphabet, find the probability that the letter is : a

Consonant.

Watch Video Solution

86. A coin is tossed twice. What are all possible

outcomes? What is the probability of the coin coming

https://dl.doubtnut.com/l/_t8SDRRQkzwE3
https://dl.doubtnut.com/l/_yjkKB1nvxtlN
https://dl.doubtnut.com/l/_KbxW8OFhlfoR


up “heads” ?

Watch Video Solution

87. The odds in favour of occurrence of an event are 5:

13. Find the probability that it will occur.

Watch Video Solution

88. If  is the probability that a certain event will

occur, find the odds in favour of its occuring.

Watch Video Solution

3

11

https://dl.doubtnut.com/l/_KbxW8OFhlfoR
https://dl.doubtnut.com/l/_oZnIMYG9TMmv
https://dl.doubtnut.com/l/_KFjWtI2LPgDE


89. A card is drawn from a well shuffled deck of cards.

What are the odds in favour of getting a face card.

Watch Video Solution

90. What are the odds in favour of getting a spade if the

card is drawn from a well shuffled deck of cards ? What

are the odds in favour of getting a king ?

Watch Video Solution

91. Two cards are drawn without replacement from a

well shuffled pack of 52 cards. Find the probability that

https://dl.doubtnut.com/l/_o0A5poWkLdeX
https://dl.doubtnut.com/l/_M6mp4vWWBlwl
https://dl.doubtnut.com/l/_M5ZxpyXVWWdD


one is a spade and the other is a queen of red colour.

Watch Video Solution

92. Two cards are drawn from a well shuffled pack of 52

cards one after the other without replacement. Find the

probability that one of these is a queen and the other is

a king of opposite colour.

Watch Video Solution

93. 3 cards are drawn at random from a pack of well

shuffled 52 cards. Find the probability that : all the three

cards are of the same suit .

https://dl.doubtnut.com/l/_M5ZxpyXVWWdD
https://dl.doubtnut.com/l/_zgpzqPo1A3xx
https://dl.doubtnut.com/l/_3Fh3MPfJw0KS


Watch Video Solution

94. 3 cards are drawn at random from a pack of well

shuffled 52 cards. Find the probability that : one is a

king, the other is a queen and the third is a jack.

Watch Video Solution

95. 4 cards are drawn from a well shuffled deck of 52

cards. What is the probability of obtaining 3 diamonds

and one spade ?

Watch Video Solution

https://dl.doubtnut.com/l/_3Fh3MPfJw0KS
https://dl.doubtnut.com/l/_mBRnyjflr7ET
https://dl.doubtnut.com/l/_YTHHhR8Hzwv8


96. A bag contains 6 red, 5 white and 4 black balls. Two

balls are drawn. Find the probability that none of them

is red.

Watch Video Solution

97. A bag contains 6 red, 4 white and 8 blue balls. If

three balls are drawn at random, find the probability

that one is red, one is white and one is blue.

Watch Video Solution

https://dl.doubtnut.com/l/_kX9O7vG9iqxD
https://dl.doubtnut.com/l/_fcCkGYANhCUz


98. What is the chance that a non-leap year selected at

random will contain 53 Sundays ?

Watch Video Solution

99. There are four men and six women in the city council.

If one council member is selected for a committee at

random, has likely is it that it is a woman ?

Watch Video Solution

100. A fair coin marked 1 on one face and 6 on the other

and a fair die are both tossed. Find the probability that

https://dl.doubtnut.com/l/_nRpxOYapaOtA
https://dl.doubtnut.com/l/_sOxuZbyaPTlX
https://dl.doubtnut.com/l/_nUGelcu8xN9R


sum of numbers that turns up is 

(i) 3 (ii) 12.

Watch Video Solution

101. A fair coin marked 1 on one face and 6 on the other

and a fair die are both tossed. Find the probability that

sum of numbers that turns up is 

(i) 3 (ii) 12.

Watch Video Solution

102. Three coins are tossed once. Find the probability of

getting : 

https://dl.doubtnut.com/l/_nUGelcu8xN9R
https://dl.doubtnut.com/l/_11PHjIPnKxQY
https://dl.doubtnut.com/l/_ESzMIlipqPQJ


3 heads .

Watch Video Solution

103. Three coins are tossed once. Find the probability of

getting

two heads.

Watch Video Solution

104. Three coins are tossed once. Find the probability of

getting

at least two heads.

Watch Video Solution

https://dl.doubtnut.com/l/_ESzMIlipqPQJ
https://dl.doubtnut.com/l/_tnIohuyOPFYX
https://dl.doubtnut.com/l/_ruZ8L81zBLvG


105. Three coins are tossed once. Find the probability of

getting 

(i) 2 heads 

(ii) at least 2 heads 

(iii) atmost 2 heads 

(iv) no head 

(v) no tail 

(vi) at most 2 tails. 

(vii) exactly two tails

Watch Video Solution

https://dl.doubtnut.com/l/_ruZ8L81zBLvG
https://dl.doubtnut.com/l/_S0WQO8cdjTKX


106. Three coins are tossed. Find the probability of : no

heads

Watch Video Solution

107. Three coins are tossed. Find the probability of

getting : all tails

Watch Video Solution

108. Three coins are tossed. Find the probability of :

exactly 2 tails

Watch Video Solution

https://dl.doubtnut.com/l/_Y7YpvZlA1eaC
https://dl.doubtnut.com/l/_uDPLWIkAHnUN
https://dl.doubtnut.com/l/_ei4v2jAsWixT


109. Three coins are tossed once. Find the probability of

getting : 

no tail.

Watch Video Solution

110. Three coins are tossed once. Find the probability of

getting

at most two tails.

Watch Video Solution

https://dl.doubtnut.com/l/_ei4v2jAsWixT
https://dl.doubtnut.com/l/_bJRSddJjKMTj
https://dl.doubtnut.com/l/_AWWkLQP0O9aO


111. In a simultaneoulsy toss of two coins, find the

probability of : 

exactly 2 tails .

Watch Video Solution

112. In a simultaneoulsy toss of two coins, find the

probability of : 

exactly 1 tail .

Watch Video Solution

https://dl.doubtnut.com/l/_fHswNXahmNOL
https://dl.doubtnut.com/l/_Os5bk38jFsxS


113. In a simultaneoulsy toss of two coins, find the

probability of : 

no tails.

Watch Video Solution

114. Three coins are tossed once. Find the probability of

getting

two heads.

Watch Video Solution

https://dl.doubtnut.com/l/_H8HddgiUhRR9
https://dl.doubtnut.com/l/_x4aLUTTc5PBG


115. Three unbiased coins are tossed once. Find the

probability of getting : 

one head or two heads.

Watch Video Solution

116. Three coins are tossed once. Find the probability of

getting

at least two heads.

Watch Video Solution

https://dl.doubtnut.com/l/_gJER7wEAymY3
https://dl.doubtnut.com/l/_aUR8zmObUuV0


117. Three unbiased coins are tossed once. Find the

probability of getting : 

at most 2 heads.

Watch Video Solution

118. Two unbiassed coins are tossed. Find the probability

of getting at most one head.

Watch Video Solution

119. A die is thrown once. Find the probability of getting

: an even number

W h Vid S l i

https://dl.doubtnut.com/l/_tcT8EZtuJD9g
https://dl.doubtnut.com/l/_2cf4AjdTh65W
https://dl.doubtnut.com/l/_SsJONqkuQ3GD


Watch Video Solution

120. A die is thrown once. If probability of an event X is

denoted by P (X), find : P (a number ).

Watch Video Solution

≥ 3

121. A die is thrown once. If probability of an event X is

denoted by P (X), find : P (a number between 2 and 5).

Watch Video Solution

122. A die is thrown once. If probability of an event X is

denoted by P (X), find : P (a number ).≤ 4

https://dl.doubtnut.com/l/_SsJONqkuQ3GD
https://dl.doubtnut.com/l/_hlN9ffgUwqPQ
https://dl.doubtnut.com/l/_0YNTQFcNo6eh
https://dl.doubtnut.com/l/_XkavydW9kGew


Watch Video Solution

123. A die is thrown once. If probability of an event X is

denoted by P (X), find : P (a number < 7).

Watch Video Solution

124. A die is thrown once. If probability of an event X is

denoted by P (X), find : P (a number > 6).

Watch Video Solution

https://dl.doubtnut.com/l/_XkavydW9kGew
https://dl.doubtnut.com/l/_6iQNaBlpWmzi
https://dl.doubtnut.com/l/_w1ingLqjgbhT


125. Two dice are thrown simultaneously. Find the

probability of getting a sum of : 9.

Watch Video Solution

126. Two dice are thrown simultaneously. Find the

probability of getting a sum of : 7.

Watch Video Solution

127. In a single throw of two dice, find the probability of

a total of : 

an odd number greater than 5.

W h Vid S l i

https://dl.doubtnut.com/l/_Yps7eYsyoUVz
https://dl.doubtnut.com/l/_2SJAn58jSvw7
https://dl.doubtnut.com/l/_ljRF8X1z9ymL


Watch Video Solution

128. In a single throw of two dice, find the probability of

a total of : 

at least 10.

Watch Video Solution

129. In a single throw of two dice, what is the probability

of getting : an odd number on the first dice and 6 on

the second dice.

Watch Video Solution

https://dl.doubtnut.com/l/_ljRF8X1z9ymL
https://dl.doubtnut.com/l/_YLwva6q2g3VW
https://dl.doubtnut.com/l/_OMgFzDHNCvJp


130. In a single throw of two dice, find: 

P (a number > 4 on each die ).

Watch Video Solution

131. In a single throw of two dice, what is the probability

of getting : a total of 11

Watch Video Solution

132. In a single throw of two dice, find the probability of

total of  or 

Watch Video Solution

9 11

https://dl.doubtnut.com/l/_9edg6uEwzMZs
https://dl.doubtnut.com/l/_MVq68Z1gjcfY
https://dl.doubtnut.com/l/_WpVlwWw59joj


133. In a single throw of two dice, find: 

P (a total of 11 or 12) .

Watch Video Solution

134. In a single throw of two dice, find: 

P (a total of 10 or 12).

Watch Video Solution

135. In a single throw of two dice, find the probability of

total of 9 or I 0.

Watch Video Solution

https://dl.doubtnut.com/l/_WpVlwWw59joj
https://dl.doubtnut.com/l/_xachTUI6cgaY
https://dl.doubtnut.com/l/_IamsuEm2s18w
https://dl.doubtnut.com/l/_U37YxJBXn5ul


136. In a single throw of two dice, find: 

P (a total of 10 or 11).

Watch Video Solution

137. In a single throw of two dice, find: 

P (a total of 8 or 9).

Watch Video Solution

138. In a single throw of two dice, find: 

P (a total > 8).

https://dl.doubtnut.com/l/_U37YxJBXn5ul
https://dl.doubtnut.com/l/_IjcRn0UwJRuq
https://dl.doubtnut.com/l/_PVxE2UKvqynk
https://dl.doubtnut.com/l/_1B42uhwRcVyA


Watch Video Solution

139. A pair of dice is thrown. Find the probability of

getting a doublet.

Watch Video Solution

140. A pair of fair dice is thrown. Find the probability

that the sum is  or greater if  appears on the first

dice .

Watch Video Solution

10 5

https://dl.doubtnut.com/l/_1B42uhwRcVyA
https://dl.doubtnut.com/l/_W6VGI8jDzi6k
https://dl.doubtnut.com/l/_YImbbQLbD8T3


141. In a single throw of three dice, find the probability

of getting a total of 5

Watch Video Solution

142. In a single throw of three dice, find the probability

of getting a total of at most 5

Watch Video Solution

143. In a single throw of three dice, determine the

probability of getting 

(i) a total of  5

https://dl.doubtnut.com/l/_Tm8FmPKpxiY6
https://dl.doubtnut.com/l/_hblQG2MwSzMS
https://dl.doubtnut.com/l/_6umrANRC7Fnv


(ii) a total of at most  

(iii) a total of at least  .

Watch Video Solution

5

5

144. In a single throw of three dice, find the probability

of getting : the same number on all the dice.

Watch Video Solution

145. Find the probability of getting a sum as 6 when two

dice are thrown simultaneously.

Watch Video Solution

https://dl.doubtnut.com/l/_6umrANRC7Fnv
https://dl.doubtnut.com/l/_qUt6v0mlXKZm
https://dl.doubtnut.com/l/_In5nbfFrJPGU
https://dl.doubtnut.com/l/_xzWpsDRfLXHW


146. In a single throw of two dice, determine the

probability of a obtaining a total of 2 or 4.

Watch Video Solution

147. In a single throw of two dice, find the probability of

total of  or 

Watch Video Solution

9 11

148. In a single throw of two dice, find the probability of

getting a total of 10 or 11.

Watch Video Solution

https://dl.doubtnut.com/l/_xzWpsDRfLXHW
https://dl.doubtnut.com/l/_FwRTG8ORpZeG
https://dl.doubtnut.com/l/_v6eGJiTw0eEs


149. Find the probability of getting the sum as a prime

number when two dice are thrown together.

Watch Video Solution

150. Find the probability of getting the product of a

perfect square (square of a natural number), when two

dice are thrown together.

Watch Video Solution

151. Find the probability of getting the sum an odd

number, when two dice are thrown together.

W h Vid S l i

https://dl.doubtnut.com/l/_nr35ipvhcTtn
https://dl.doubtnut.com/l/_ypq5O0cA3D1j
https://dl.doubtnut.com/l/_H3vziICiVSsw


Watch Video Solution

152. Two dice are thrown together. What is the

probability that the sum of the numbers on the two

faces is neither 9 nor 11 ?

Watch Video Solution

153. A die is rolled twice. Find the probability that the

sum of the numbers on the dice is divisible by 3 or 4.

Watch Video Solution

https://dl.doubtnut.com/l/_H3vziICiVSsw
https://dl.doubtnut.com/l/_ggQE7J2saINU
https://dl.doubtnut.com/l/_KOcv4Gmk62qo


154. Two dice are thrown together. What is the

probability that the sum of the numbers on the two

faces is greater than 8 ?

Watch Video Solution

155. A die is rolled twice. Find the probability that the

sum of the numbers on the dice is divisible by 3 or 4.

Watch Video Solution

156. Two dice are thrown together. What is the

probability that the sum of the numbers on the two

https://dl.doubtnut.com/l/_p2J6JONBmsXE
https://dl.doubtnut.com/l/_7NgPQN02OtAr
https://dl.doubtnut.com/l/_Yx3ml7zzbL4Q


faces is neither divisible by 3 nor by 5 ?

Watch Video Solution

157. One card is drawn from a well shuffled deck of 52

cards. If each outcome is equally likely, calculate the

probability that the card will be: a diamond.

Watch Video Solution

158. One card is drawn from a well shuffled deck of 52

cards. If each outcome is equally likely, calculate the

probability that the card will be: not an ace.

Watch Video Solution

https://dl.doubtnut.com/l/_Yx3ml7zzbL4Q
https://dl.doubtnut.com/l/_59u94DhnyhCt
https://dl.doubtnut.com/l/_bLDWOaSIc6Ii


159. One card is drawn from a well shuffled deck of 52

cards. If each outcome is equally likely, calculate the

probability that the card will be: not a king.

Watch Video Solution

160. One card is drawn from a well shuffled deck of 52

cards. If each outcome is equally likely, calculate the

probability that the card will be: a black card (i.e. a club

or a spade)

Watch Video Solution

https://dl.doubtnut.com/l/_bLDWOaSIc6Ii
https://dl.doubtnut.com/l/_9yfotURoBeF6
https://dl.doubtnut.com/l/_ZQ5PYZJCSUwz


161. One card is drawn from a pack of 52 cards, each of

52 cards being equally likely to be drawn. Find the

probability of : the card drawn is red

Watch Video Solution

162. One card is drawn from a well shuffled deck of 52

cards. If each outcome is equally likely, calculate the

probability that the card will be: not a diamond.

Watch Video Solution

https://dl.doubtnut.com/l/_6ysYLtMvN0Se
https://dl.doubtnut.com/l/_4N9eJz8tbfTR


163. One card is drawn from a well shuffled deck of 52

cards. If each outcome is equally likely, calculate the

probability that the card will be: not a black card.

Watch Video Solution

164. A letter is chosen at random, from the word

'ASSASSINATION'. Find the probability that letter is

a vowel

Watch Video Solution

https://dl.doubtnut.com/l/_c5oOvIlP12BC
https://dl.doubtnut.com/l/_mTIKISEnHcwW


165. A letter is chosen at random from the word

ASSASSINATION. Find the probability that a letter is 

(i) vowel. 

(ii) a consonant.

Watch Video Solution

166. Find the probability that in a random arrangement

of the letters of the word “UNIVERSITY”, the two I's do

not come together.

Watch Video Solution

https://dl.doubtnut.com/l/_XAUXr6pWn7te
https://dl.doubtnut.com/l/_a1H3SzDICWa9


167. A urn contains 9 red, 7 white and 4 black balls. A ball

is drawn at random. What is the probability that the ball

drawn will be: red .

Watch Video Solution

168. A urn contains 9 red, 7 white and 4 black balls. A ball

is drawn at random. What is the probability that the ball

drawn will be: white.

Watch Video Solution

https://dl.doubtnut.com/l/_IuKibIzUebXx
https://dl.doubtnut.com/l/_okWirIbtI6Iz


169. A urn contains 9 red, 7 white and 4 black balls. A ball

is drawn at random. What is the probability that the ball

drawn will be: black .

Watch Video Solution

170. A urn contains 9 red, 7 white and 4 black balls. A ball

is drawn at random. What is the probability that the ball

drawn will be: red or black.

Watch Video Solution

https://dl.doubtnut.com/l/_q7ZoElJLHY7a
https://dl.doubtnut.com/l/_69c6jiD6ual6


171. A urn contains 9 red, 7 white and 4 black balls. A ball

is drawn at random. What is the probability that the ball

drawn will be: white or black.

Watch Video Solution

172. A urn contains 9 red, 7 white and 4 black balls. A ball

is drawn at random. What is the probability that the ball

drawn will be: not red.

Watch Video Solution

https://dl.doubtnut.com/l/_kZxIrS2uqhXb
https://dl.doubtnut.com/l/_4qYFMLl9js3n


173. A urn contains 9 red, 7 white and 4 black balls. A ball

is drawn at random. What is the probability that the ball

drawn will be: not black.

Watch Video Solution

174. An urn contains 7 white, 5 black and 3 red balls. Two

balls are drawn at random, Find the probability that : 

both the balls are red.

Watch Video Solution

https://dl.doubtnut.com/l/_AEcd8QOsFI2I
https://dl.doubtnut.com/l/_CkbqvZjoyi0v


175. An urn contains 7 white, 5 black and 3 red balls. Two

balls are drawn at random, Find the probability that : 

both the balls are red.

Watch Video Solution

176. An urn contains 7 white, 5 black and 3 red balls. Two

balls are drawn at random, Find the probability that : 

one ball is white.

Watch Video Solution

https://dl.doubtnut.com/l/_4pJsjFZ3dGcx
https://dl.doubtnut.com/l/_CnPahLEQqp7n


177. An urn contains 9 red, 8 white and 4 black balls.
 A

ball is drawn at random. What is the probability that

ball drawn is white or black ?

Watch Video Solution

178. A bag contains 9 discs of which 4 are red, 3 are blue

and 2 are yelow. The discs are similar in shape and size.

A disc is drawn at random from the bag. Calculate the

probability that it will be 

(i) red (ii) yellow (iii) blue (iv) not blue (v) either red or

yellow.

Watch Video Solution

https://dl.doubtnut.com/l/_ZN9cYz3eAaEp
https://dl.doubtnut.com/l/_z3yuHdxGww8W


179. A bag contains 9 discs of which 4 are red, 3 are blue

and 2 are yelow. The discs are similar in shape and size.

A disc is drawn at random from the bag. Calculate the

probability that it will be 

(i) red (ii) yellow (iii) blue (iv) not blue (v) either red or

yellow.

Watch Video Solution

180. A bag contains 9 discs of which 4 are red, 3 are blue

and 2 are yelow. The discs are similar in shape and size.

A disc is drawn at random from the bag. Calculate the

probability that it will be 

https://dl.doubtnut.com/l/_JgQLpDiJAPDP
https://dl.doubtnut.com/l/_0lWuSN5wtZ6r


(i) red (ii) yellow (iii) blue (iv) not blue (v) either red or

yellow.

Watch Video Solution

181. A bag contains 9 discs of which 4 are red, 3 are blue

and 2 are yellow. The discs are similar in shape and size.

A disc is drawn at random from the bag. Calculate the

probability that it will be: not blue.

Watch Video Solution

182. A bag contains 9 discs of which 4 are red, 3 are blue

and 2 are yellow. The discs are similar in shape and size.

https://dl.doubtnut.com/l/_0lWuSN5wtZ6r
https://dl.doubtnut.com/l/_JWmV4T2RbQLb
https://dl.doubtnut.com/l/_MqoWX77Gdfr7


A disc is drawn at random from the bag. Calculate the

probability that it will be: not yellow .

Watch Video Solution

183. A bag contains 9 discs of which 4 are red, 3 are blue

and 2 are yelow. The discs are similar in shape and size.

A disc is drawn at random from the bag. Calculate the

probability that it will be 

(i) red (ii) yellow (iii) blue (iv) not blue (v) either red or

yellow.

Watch Video Solution

https://dl.doubtnut.com/l/_MqoWX77Gdfr7
https://dl.doubtnut.com/l/_LCY6AqDFZ4HX


184. Two coins are tossed simultaneously. Complete the

following table : 

Watch Video Solution

185. Two dice are tossed simultaneously. Complete the

following table : 

Watch Video Solution

https://dl.doubtnut.com/l/_eRaP1rvJSgrP
https://dl.doubtnut.com/l/_seVWFLHASIJu
https://dl.doubtnut.com/l/_ZBRctMWHKbNj


186. Three coins are tossed simultaneously. Write the

sample space and complete the following table : 

Watch Video Solution

187. A urn contains 9 red, 7 white and 4 black balls. A ball

is drawn at random. What is the probability that the ball

drawn will be: red .

Watch Video Solution

https://dl.doubtnut.com/l/_ZBRctMWHKbNj
https://dl.doubtnut.com/l/_5zxekvlfcKQl


188. A urn contains 9 red, 7 white and 4 black balls. A ball

is drawn at random. What is the probability that the ball

drawn will be: white.

Watch Video Solution

189. A urn contains 9 red, 7 white and 4 black balls. A ball

is drawn at random. What is the probability that the ball

drawn will be: red or black.

Watch Video Solution

https://dl.doubtnut.com/l/_230OLsgO43oy
https://dl.doubtnut.com/l/_0XM97p5uOQ1m


190. A urn contains 9 red, 7 white and 4 black balls. A ball

is drawn at random. What is the probability that the ball

drawn will be: white or black.

Watch Video Solution

191. A urn contains 9 red, 7 white and 4 black balls. A ball

is drawn at random. What is the probability that the ball

drawn will be: not red.

Watch Video Solution

https://dl.doubtnut.com/l/_K9GmEYJWw2CL
https://dl.doubtnut.com/l/_hL8ozYxBiEWt


192. Six boys and six girls sit in a row randomly. The

probability that the six girls sit together or the the boys

and girls sit alternatly, is

Watch Video Solution

193. Six boys and six girls sit in a row at random. Find

the probability that : the boys and girls sit alternately.

Watch Video Solution

194. A coin is tossed thrice. If event E denotes the

‘number of heads is odd’ and event F denotes the

https://dl.doubtnut.com/l/_URdfAXjUueEU
https://dl.doubtnut.com/l/_2EzPYs9FP9bM
https://dl.doubtnut.com/l/_pfU1rNApkrU2


‘number of tails is odd’, then find the cases favourable

to the event .

Watch Video Solution

E ∩ F

195. From a group of 2 men and 3 women, two persons

are selected. Describe the sample space of the

experiment. If E is the event in which one man and one

woman are selected, then which are the cases

favourable to E ?

Watch Video Solution

https://dl.doubtnut.com/l/_pfU1rNApkrU2
https://dl.doubtnut.com/l/_zTl1n0nmw04c


196. What is the probability that the numbers selected

from the numbers 1, 2, 3, .... , 30 is a prime number ? You

may assume that each of the 30 numbers is equally

likely to be selected.

Watch Video Solution

197. What is the probability that a number selected from

the numbers 1, 2, 3......27 is a prime number ? You may

assume that each of 27 numbers is equally likely to be

selected.

Watch Video Solution

https://dl.doubtnut.com/l/_ibjyuRlCefqc
https://dl.doubtnut.com/l/_2hpnQ39K8qhe
https://dl.doubtnut.com/l/_crya2Q0iQCL9


198. A bag contains 3 red balls bearing one of the

numbers 1, 2 or 3 (one number on one ball) , and 2 black

balls bearing the numbers 4 or 6. A ball is drawn, its

number is noted and the ball is replaced in the bag.

Then another ball is drawn and its number is noted.

Find the probability of drawing: 2 on the first draw and

6 on the second draw.

Watch Video Solution

199. A bag contains 3 red balls bearing one of the

numbers 1, 2 or 3 (one number on one ball) , and 2 black

balls bearing the numbers 4 or 6. A ball is drawn, its

number is noted and the ball is replaced in the bag.

Then another ball is drawn and its number is noted.

https://dl.doubtnut.com/l/_crya2Q0iQCL9
https://dl.doubtnut.com/l/_iZSxBYYomW7J


Find the probability of drawing: a number  on the

first draw and 4 on the second draw.

Watch Video Solution

≤ 2

200. A bag contains 3 red balls bearing one of the

numbers 1, 2 or 3 (one number on one ball) , and 2 black

balls bearing the numbers 4 or 6. A ball is drawn, its

number is noted and the ball is replaced in the bag.

Then another ball is drawn and its number is noted.

Find the probability of drawing: a total of 5.

Watch Video Solution

https://dl.doubtnut.com/l/_iZSxBYYomW7J
https://dl.doubtnut.com/l/_NvFeVkylEB1n


201. In a lottery, a person chosen six different natural

numbers at random from 1 to 20, and if these six

numbers match with the six numbers already fixed by

the lottery committee he wins prize. What is the

probability of winning the prize in the game ? 

[Provided that the order of the number is not

important].

Watch Video Solution

202. 20 cards are numbered from 1 to 20. One card is

then drawn at random. What is the probability that the

number on the card will be : a multiple of 4 ?

Watch Video Solution

https://dl.doubtnut.com/l/_F6G1LNfKqdQq
https://dl.doubtnut.com/l/_Dm2R0lZnB7yb


203. 20 cards are numbered from 1 to 20. One card is

then drawn at random. What is the probability that the

number on the card will be : not a multiple of 4 ?

Watch Video Solution

204. 20 cards are numbered from 1 to 20. One card is

then drawn at random. What is the probability that the

number on the card will be : odd?

Watch Video Solution

https://dl.doubtnut.com/l/_Dm2R0lZnB7yb
https://dl.doubtnut.com/l/_tUST6cMyu3vV
https://dl.doubtnut.com/l/_mocBg3mbMmuS


205. 20 cards are numbered from 1 to 20. One card is

then drawn at random. What is the probability that the

number on the card will be : greater than 12?

Watch Video Solution

206. 20 cards are numbered from 1 to 20. One card is

then drawn at random. What is the probability that the

number on the card will be : divisible by 5?

Watch Video Solution

https://dl.doubtnut.com/l/_K9ZzndWZvbQo
https://dl.doubtnut.com/l/_yVbKHD6FpBLV


207. 20 cards are numbered from 1 to 20. One card is

then drawn at random. What is the probability that the

number on the card will be : not a multiple of 6?

Watch Video Solution

208. Two dice are thrown. Find the odds in favour of

getting the sum : 4. What are the odds against getting

the sum 6 ?

Watch Video Solution

https://dl.doubtnut.com/l/_hfPWsfvgd47H
https://dl.doubtnut.com/l/_8gh1xOrLk0RM


209. Two dice are thrown. Find the odds in favour of

getting the sum : 5. What are the odds against getting

the sum 6 ?

Watch Video Solution

210. A fair coin is tossed four times, and a person wins

Re. 1 for each head and loses Rs 1.50 for each tail that

turns up.
 From the sample space. calculate how many

different amounts of money you can have after four

tosses and the probability of having each of the these

amounts.

Watch Video Solution

https://dl.doubtnut.com/l/_wsMdIsKkWhJ9
https://dl.doubtnut.com/l/_moWwbXJTcYZD


211. Check whether the following Probabilities P (A) and

P (B) are Consistently defined : 

P(A) =0.5, P (B)=0.7,  .

Watch Video Solution

P (A ∩ B) = 0.06

212. Check whether the following Probabilities P (A) and

P (B) are Consistently defined : 

P(A) =0.5. P (B)=0.4, .

Watch Video Solution

P (A ∪ B) = 0.8

https://dl.doubtnut.com/l/_OfS55xazN0Ik
https://dl.doubtnut.com/l/_MtoHUpTTp8vB


213. Events E and F are such that P (not E or not F) =

0.25. State whether E and F are mutually exclusive.

Watch Video Solution

214. Given , find P(A or B)

and A & B are mutually exclusive events.

Watch Video Solution

P (A) = and P (B) =
3

5

1

5

215. If E and F are two events such that P (E) = , P (F)= 

 and P(E and F) = , find : P (E or F).

Watch Video Solution

1

4
1

2

1

8

https://dl.doubtnut.com/l/_Tbi2urlEvCCf
https://dl.doubtnut.com/l/_XTr7FFz8TRq9
https://dl.doubtnut.com/l/_JAZjNI16EvQU


216. If E and F are events such that

 and P(E and F) . Find 


(i) P(E or F) (ii) P(not E and not F).

Watch Video Solution

P (E) = , P (F ) =
1

4

1

2
=

1

8

217. A and B are events such that P(A)=0.42, P(B)=0.48

and P(A or B)=0.16.

Determine

P(not B)

Watch Video Solution

https://dl.doubtnut.com/l/_JAZjNI16EvQU
https://dl.doubtnut.com/l/_2lmGvB5k8A15
https://dl.doubtnut.com/l/_UrLwS1lNKCrW


218. A and B are events such that P(A)=0.42, P(B)=0.48

and P(A or B)=0.16.

Determine

P(not B)

Watch Video Solution

219. If A and B are events such that P(A) = 0.42, P(B) =

0.48 and P(A  B) = 0.16, then P(A or B) is equal to

Watch Video Solution

∩

https://dl.doubtnut.com/l/_SMpMZjK5ccK1
https://dl.doubtnut.com/l/_D6AzvQonEyyq


220. A and B are two mutually exclusive events. If P (A) =

0.5, P (B) = 0.6, find P (A or B).

Watch Video Solution

221. In a single throw of two dice, find the probability of

total of  or 

Watch Video Solution

9 11

222. In a single throw of two dice, find the probability of

a total of : 

8 or 12.

W h Vid S l i

https://dl.doubtnut.com/l/_jt46WTXEvV7t
https://dl.doubtnut.com/l/_8Dc8uDmTdERa
https://dl.doubtnut.com/l/_98DQvW2xjgie


Watch Video Solution

223. In a single throw of two dice, find the probability of

a total of : 

a total > 8.

Watch Video Solution

224. In a single throw of 2 dices, determine the

probability of not getting the same number on the two

dices.

Watch Video Solution

https://dl.doubtnut.com/l/_98DQvW2xjgie
https://dl.doubtnut.com/l/_73yFvlSYmHsw
https://dl.doubtnut.com/l/_be8sLI9KF9SK


225. What is the probability that a number selected

from the numbers 1, 2, 3......27 is a prime number ? You

may assume that each of 27 numbers is equally likely to

be selected.

Watch Video Solution

226. A card is drawn from a well shuffled deck of 52

cards. Find the probability of drawing : 

a black king.

Watch Video Solution

https://dl.doubtnut.com/l/_SpyrGY54cqW7
https://dl.doubtnut.com/l/_HJNJqGKTv3Lo


227. A card is drawn from a well shuffled deck of 52

cards. Find the probability of drawing : 

a jack, queen, king or an ace.

Watch Video Solution

228. A card is drawn from a well shuffled deck of 52

cards. Find the probability of drawing : 

a card, which is neither a heart nor a king .

Watch Video Solution

https://dl.doubtnut.com/l/_QJcvLbvMV6hT
https://dl.doubtnut.com/l/_TNSL7cgsl2cg


229. A card is drawn from a well shuffled deck of 52

cards. Find the probability of drawing : 

a spade or club.

Watch Video Solution

230. From a set of 17 cards, numbered 1, 2, 3, 4, .... ,16, 17,

one is drawn at random. Show that the chance that its

number is divisible by 3 or 7 is .

Watch Video Solution

7

17

https://dl.doubtnut.com/l/_qBXmREyPPfrE
https://dl.doubtnut.com/l/_qYNxjCUrvWy4


231. A bag contains 24 balls numbered from 1 to 24. One

ball is drawn at random. Find the probability that the

ball drawn has a number which is a multiple of 3 or 4.

Watch Video Solution

232. A pair of dice is rolled. Find the probability of

getting a doublet or sum of numbers to be at least 10.

Watch Video Solution

233. Two dice are tossed together. Find the probability

of getting a doublet or (a) total of 10 (b) total of 6.

W h Vid S l i

https://dl.doubtnut.com/l/_5NrPKsLZt7hp
https://dl.doubtnut.com/l/_u8AaWeIojk7E
https://dl.doubtnut.com/l/_Bwde6joepd59


Watch Video Solution

234. Find the probability that a card drawn from a deck

of 52 cards is: 

either a king or a club.

Watch Video Solution

235. Find the probability that a card drawn from a deck

of 52 cards is: 

either a heart or a king.

Watch Video Solution

https://dl.doubtnut.com/l/_Bwde6joepd59
https://dl.doubtnut.com/l/_uRhkz3KBvJAx
https://dl.doubtnut.com/l/_hO0kNdyjZGLd


236. Find the probability of getting 2 or 3 tails when a

coin is tossed four times.

Watch Video Solution

237. An integer is chosen from the first 200 integers.

Find the probability that it is divisible by 6 or 8.

Watch Video Solution

238. Find the probability of getting a doublet or sum of

numbers to be at least 10, when a pair of dice is rolled.

Watch Video Solution

https://dl.doubtnut.com/l/_d4gHpV41h23k
https://dl.doubtnut.com/l/_FzHeZDX7LLYd
https://dl.doubtnut.com/l/_H6RIFmw5UIjv


239. In an entrance test that is graded on the basis of

two examinations, the probability of a randomly chosen

student passing the first-examination is 0.8 and the

probability of passing the second examination is 0.7. The

probability of passing at least one of them is 0.95. What

is the probability of passing both ?

Watch Video Solution

240. The probability that a student will pass the final

examination in both English and Hindi is 0.5 and the

probability of passing neither is 0.1. if the probability of

https://dl.doubtnut.com/l/_H6RIFmw5UIjv
https://dl.doubtnut.com/l/_7vgB2JIEI6RN
https://dl.doubtnut.com/l/_q7oRxLd4nzba


passing the English examination is 0.75, what is the

probability of passing the Hindi examination?

Watch Video Solution

241. In a class of 60 students, 30 opted for NCC, 32 opted

for NSS and 24 opted for both NCC and NSS. If one of

these students is selected at random, find the

probability that : 

the student opted for NCC or NSS.

Watch Video Solution

https://dl.doubtnut.com/l/_q7oRxLd4nzba
https://dl.doubtnut.com/l/_30kJyiREHrNC


242. In a class of 60 students, 30 opted for NCC, 32

opted for NSS and 24 opted for both NCC and NSS. If

one of these students is selected at random, find the

probability that : 

the student has opted neither NCC nor NSS.

Watch Video Solution

243. In a class of 60 students, 30 opted for NCC, 32

opted for NSS and 24 opted for both NCC and NSS. If

one of these students is selected at random, find the

probability that : 

the student has opted neither NCC nor NSS.

Watch Video Solution

https://dl.doubtnut.com/l/_KdhN3eONUymA
https://dl.doubtnut.com/l/_GvzSapsSNPYU


244. One card is drawn from a pack of 52 cards, each of

52 cards being equally likely to be drawn. Find the

probability of : the card drawn is red

Watch Video Solution

245. One card is drawn from a pack of 52 cards, each of

52 cards being equally likely to be drawn. Find the

probability of : the card drawn is a king

Watch Video Solution

https://dl.doubtnut.com/l/_GvzSapsSNPYU
https://dl.doubtnut.com/l/_oEz84ZPuLibv
https://dl.doubtnut.com/l/_YUqlitrPYwCz


246. One card is drawn from a pack of 52 cards, each of

52 cards being equally likely to be drawn. Find the

probability of : the card drawn is red and a king

Watch Video Solution

247. One card is drawn from a pack of 52 cards, each of

52 cards being equally likely to be drawn. Find the

probability of : the card drawn is either red or a king

Watch Video Solution

https://dl.doubtnut.com/l/_Jthw4JkU6zVG
https://dl.doubtnut.com/l/_46Yjz345O1hh


248. The probability that a student will receive an A, B, C

or D grade is 0.40, 0.35, 0.15 and 0.10 respectively. Find

the probability that a student will receive : 

not an A grade.

Watch Video Solution

249. The probability that a student will receive an A, B, C

or D grade is 0.40, 0.35, 0.15 and 0.10 respectively. Find

the probability that a student will receive : 

at most a C grade.

Watch Video Solution

https://dl.doubtnut.com/l/_i5iFcnlfZbBo
https://dl.doubtnut.com/l/_RdHb00SDULZ5
https://dl.doubtnut.com/l/_tZ3QnGrXZ3Wa


250. The probability that a student will receive an A, B, C

or D grade is 0.40, 0.35, 0.15 and 0.10 respectively. Find

the probability that a student will receive : 

B or C grade.

Watch Video Solution

251. Neelam is taking up subjects - Mathematics, Physics

and Chemistry. She estimates that her probabilities of

receiving a grade A in these courses. are 0.2, 0.3 and 0.9

respectively. If the grades can be regarded as

independent events, find the probabilities that Neelam

receives : 

All A’s .

Watch Video Solution

https://dl.doubtnut.com/l/_tZ3QnGrXZ3Wa
https://dl.doubtnut.com/l/_uqh4GeFushlG


Watch Video Solution

252. Probabilities of A, B and C of solving a problem are

 respectively. If they all try to solve the

problem then find the probability that exactly one of

them will solve the problem.

Watch Video Solution

, and
1

2

1

3

1

4

253. Neelam is taking up subjects - Mathematics, Physics

and Chemistry. She estimates that her probabilities of

receiving a grade A in these courses. are 0.2, 0.3 and 0.9

respectively. If the grades can be regarded as

independent events, find the probabilities that Neelam

https://dl.doubtnut.com/l/_uqh4GeFushlG
https://dl.doubtnut.com/l/_chBLxD2smGNr
https://dl.doubtnut.com/l/_5b1R7ZsWew2M


receives : 

Exactly two A’s .

Watch Video Solution

254. A bag contains 100 identical tokens on which

numbers 1 to 100 are marked. A token is drawn

randomly. What is the probability that the number on

the token is : 

an even number.

Watch Video Solution

https://dl.doubtnut.com/l/_5b1R7ZsWew2M
https://dl.doubtnut.com/l/_BtD8xUoGq8Qk


255. A bag contains 100 identical tokens on which

numbers 1 to 100 are marked. A token is drawn

randomly. What is the probability that the number on

the token is : 

an odd number.

Watch Video Solution

256. A bag contains 100 identical tokens on which

numbers 1 to 100 are marked. A token is drawn

randomly. What is the probability that the number on

the token is : 

a multiple of 3 ?

Watch Video Solution

https://dl.doubtnut.com/l/_k0hbRaElQw9v
https://dl.doubtnut.com/l/_AULHeqIQJCpR


257. A bag contains 100 identical tokens on which

numbers 1 to 100 are marked. A token is drawn

randomly. What is the probability that the number on

the token is : 

a multiple of 5 ?

Watch Video Solution

258. A bag contains 100 identical tokens on which

numbers 1 to 100 are marked. A token is drawn

randomly. What is the probability that the number on

the token is : 

a multiple of 3 and 5 ?

https://dl.doubtnut.com/l/_AULHeqIQJCpR
https://dl.doubtnut.com/l/_ZLF1CjKkXF82
https://dl.doubtnut.com/l/_rDqBYrwIXq73


Watch Video Solution

259. A bag contains 100 identical tokens on which

numbers 1 to 100 are marked. A token is drawn

randomly. What is the probability that the number on

the token is : 

a multiple of 3 or 5?

Watch Video Solution

260. A bag contains 100 identical tokens on which

numbers 1 to 100 are marked. A token is drawn

randomly. What is the probability that the number on

https://dl.doubtnut.com/l/_rDqBYrwIXq73
https://dl.doubtnut.com/l/_D6JiZqWNa9rl
https://dl.doubtnut.com/l/_FTjDgWQ3I3qv


the token is : 

less than 20?

Watch Video Solution

261. A bag contains 100 identical tokens on which

numbers 1 to 100 are marked. A token is drawn

randomly. What is the probability that the number on

the token is : 

greater than 70 ?

Watch Video Solution

https://dl.doubtnut.com/l/_FTjDgWQ3I3qv
https://dl.doubtnut.com/l/_KYC8sGoQuOCn


262. In a simultaneous throw of two dice if A denotes

the event ‘a total of 11' and B denotes the event ‘an odd

number on each die’, then find : 

P(A) .

Watch Video Solution

263. In a simultaneous throw of two dice if A denotes

the event ‘a total of 11' and B denotes the event ‘an odd

number on each die’, then find : 

P(B).

Watch Video Solution

https://dl.doubtnut.com/l/_czvY2buwDZAa
https://dl.doubtnut.com/l/_pSc74P4dxVHW
https://dl.doubtnut.com/l/_G9mh9b4pBmGn


264. In a simultaneous throw of two dice if A denotes

the event ‘a total of 11' and B denotes the event ‘an odd

number on each die’, then find : 

P(A or B).

Watch Video Solution

265. Say True or False giving reason : 

 , A and B aremutually exclusive

and exhaustive.

Watch Video Solution

P (A) = , P (B) =
1

3

2

3

https://dl.doubtnut.com/l/_G9mh9b4pBmGn
https://dl.doubtnut.com/l/_luLwAsq6KNqR


266. Say True or False giving reason : 

P(A) = 0.4, P (B) = 0.25, P (A or B) = 0.65 . A and B are

mutually exclusive events.

Watch Video Solution

267. Say True or False giving reason : 

P (A) = 0.35, P (B) = 0.65 , A and B are complementary

events.

Watch Video Solution

https://dl.doubtnut.com/l/_TxjzkrbbtHaX
https://dl.doubtnut.com/l/_cYdObtUU3Ded


268. Say True or False giving reason : 

P(A) = 0.3, P (B) = 0.45, P (A and B) = 0.2 . A and B are

mutually exclusive events.

Watch Video Solution

269. A and B are two mutually exclusive events of an

experiment.
 If P (not A) = 0.65, , and P

(B)= p, find the value of p.

Watch Video Solution

P (A ∪ B) = 0.65

https://dl.doubtnut.com/l/_9XslFVkkNeUp
https://dl.doubtnut.com/l/_EpWDG86aONb6


270. A,B and C are three mutually exclusive and

exhaustive events associated with a random experiment

. Find P(A) given that

.

Watch Video Solution

P (B) = P (A) and P (C) = P (B)
3

2

1

2

271. Find the probability that when a hand of 7 cards is

drawn from a well shuffled deck of 52 cards it contains : 

(i) all Kings (ii) exactly three Kings (iii) at least three

Kings.

Watch Video Solution

https://dl.doubtnut.com/l/_z29emurbmdQd
https://dl.doubtnut.com/l/_yseGZrG4D8rg
https://dl.doubtnut.com/l/_DYkSWSZdSN7y


272. Find the probability that when a hand of 7 cards is

drawn from a well shuffled deck of 52 cards it contains : 

(i) all Kings (ii) exactly three Kings (iii) at least three

Kings.

Watch Video Solution

273. Find the probability that when a hand of 7 cards is

drawn from a well Shuffled deck of 52 cards, it contains: 

atleast 3 kings.

Watch Video Solution

https://dl.doubtnut.com/l/_DYkSWSZdSN7y
https://dl.doubtnut.com/l/_Lz8CffWqh7at


274. 4 cards are drawn from a well shuffled deck of 52

cards. What is the probability of obtaining 3 diamonds

and one spade ?

Watch Video Solution

275. A die has two faces each with number ‘1’, three faces

each with number ‘2’ and one face with number '3’. If die

is rolled once, determine : P(2).

Watch Video Solution

https://dl.doubtnut.com/l/_2iynMW3NgUWi
https://dl.doubtnut.com/l/_l9L8yHzIS9tc


276. A die has two faces each with number ‘1’, three faces

each with number ‘2’ and one face with number '3’. If die

is rolled once, determine : P(1 or 3) .

Watch Video Solution

277. A die has two faces each with number ‘1’, three faces

each with number ‘2’ and one face with number '3’. If die

is rolled once, determine : P (not 3).

Watch Video Solution

https://dl.doubtnut.com/l/_H4bLAAWsZDzq
https://dl.doubtnut.com/l/_E0K7FRwE8Pye


278. A box contains 10 red marbles, 20 blue marbles and

30 green marbles. 5 marbles are drawn from the box,

what is the probability that 

all will be blue

Watch Video Solution

279. A box contains 10 red marbles, 20 blue marbles and

30 green marbles. 5 marbles are drawn from the box,

what is the probability that 

at least one will be green

Watch Video Solution

https://dl.doubtnut.com/l/_xQkBKErcrn5Q
https://dl.doubtnut.com/l/_k7BMlVbd9IFP
https://dl.doubtnut.com/l/_AOet0cNlFF8K


280. Three letters are dictated to three persons and an

envelope is addressed to each of them the letters are

inserted into the envelopes at random so that each

envelope contains exactly one letter. Find the

probability that at least one letter is in its proper

envelope.

Watch Video Solution

281. Out of 100 students, two sections of 40 and 60 are

formed. If you and your friend are among 100 students,

what is the probability that 

a) you both enter the same section. 

b) you both enter the different sections.

Watch Video Solution

https://dl.doubtnut.com/l/_AOet0cNlFF8K
https://dl.doubtnut.com/l/_ahoCM3AlRXqD


Watch Video Solution

282. Out of 100 students, two sections of 40 and 60 are

formed. If you and your friend are among 100 students,

what is the probability that 

a) you both enter the same section. 

b) you both enter the different sections.

Watch Video Solution

283. In a certain lottery 10,000 tickets are sold and ten

equal prizes are awarded. What is the probability of not

getting a prize if you buy : 

one ticket .

h id l i

https://dl.doubtnut.com/l/_ahoCM3AlRXqD
https://dl.doubtnut.com/l/_ykwYYYVwAAyr
https://dl.doubtnut.com/l/_YpcPrUaeErPY


Watch Video Solution

284. In a certain lottery 10,000 tickets are sold and ten

equal prizes are awarded. What is the probability of not

getting a prize if you buy : 

two tickets.

Watch Video Solution

285. In a certain lottery 10,000 tickets are sold and ten

equal prizes are awarded. What is the probability of not

getting a prize if you buy : 

10 tickets.

Watch Video Solution

https://dl.doubtnut.com/l/_YpcPrUaeErPY
https://dl.doubtnut.com/l/_6Sv3Cm5njkUw
https://dl.doubtnut.com/l/_H9agXLu3U3jt


286. A and B are two events such thatP(A)=0.54, P(B)=0.69

and =0.35


Find:

Watch Video Solution

P (A ∩ B)

P (A ∪ B)

287. A and B are two events such thatP(A)=0.54, P(B)=0.69

and =0.35


Find:

Watch Video Solution

P (A ∩ B)

P (A' ∩ B' )

https://dl.doubtnut.com/l/_H9agXLu3U3jt
https://dl.doubtnut.com/l/_I86cjY12v1gR
https://dl.doubtnut.com/l/_RvPLepGxT8B4


288. A and B are two events such thatP(A)=0.54, P(B)=0.69

and =0.35


Find:

Watch Video Solution

P (A ∩ B)

P (A ∩ B' )

289. A and B are two events such thatP(A)=0.54, P(B)=0.69

and =0.35


Find:

Watch Video Solution

P (A ∩ B)

P (B ∩ A' )

https://dl.doubtnut.com/l/_L9QlxvcqmNxL
https://dl.doubtnut.com/l/_7tkpEbbv71NS
https://dl.doubtnut.com/l/_jLSWETDHIqUT


290. The number lock of a suitcase has 4 wheels, each

labelled with ten digits i.e., from 0 to 9. The lock opens

with a sequence of four digits with no repeats. What is

the probability of a person getting the right sequence

to open the suitcase ?

Watch Video Solution

291. If 4-digit numbers greater than 5000 are randomly

formed from the digits 0, 1, 3, 5 and 7 what is the

probability of forming a number divisible by 5 when, 

i) the digits are repeated ? 

ii) the repetition of digits is not allowed ?

Watch Video Solution

https://dl.doubtnut.com/l/_jLSWETDHIqUT
https://dl.doubtnut.com/l/_39fKwzQNhElH


292. If 4-digit numbers greater than 5000 are randomly

formed from the digits 0, 1, 3, 5 and 7 what is the

probability of forming a number divisible by 5 when, 

i) the digits are repeated ? 

ii) the repetition of digits is not allowed ?

Watch Video Solution

293. From the employees of a company, 5 persons are

selected to represent them in the managing committee

of the company. Particulars of five persons are as

follows: 

https://dl.doubtnut.com/l/_Zqh1I7EK1wSR
https://dl.doubtnut.com/l/_2DgMwklG0zBt



 A person

is selected at random from this group to act as a

spokesperson. What is the probability that the

spokesperson will be either male or over 35 years ?

Watch Video Solution

294. On her vacations Veena visits four Cities (A, B,C and

D) in a random order. What is the probability that she

visits : 

A before B ?

https://dl.doubtnut.com/l/_2DgMwklG0zBt
https://dl.doubtnut.com/l/_zUg4ktLEpkjk


Watch Video Solution

295. On her vacations Veena visits four Cities (A, B,C and

D) in a random order. What is the probability that she

visits : 

A before B and B before C ?

Watch Video Solution

296. On her vacations Veena visits four Cities (A, B,C and

D) in a random order. What is the probability that she

visits : 

A first and B last ?

Watch Video Solution

https://dl.doubtnut.com/l/_zUg4ktLEpkjk
https://dl.doubtnut.com/l/_2GBR7KWRSVBM
https://dl.doubtnut.com/l/_BQPhtkTUu7SW


297. On her vacations Veena visits four Cities (A, B,C and

D) in a random order. What is the probability that she

visits : 

A either first or second ?

Watch Video Solution

298. On her vacations Veena visits four Cities (A, B,C and

D) in a random order. What is the probability that she

visits : 

A just before B ?

Watch Video Solution

https://dl.doubtnut.com/l/_BQPhtkTUu7SW
https://dl.doubtnut.com/l/_WAe2zdlwJpIZ
https://dl.doubtnut.com/l/_IFVuCx3apuIr


299. In a relay race, there are five teams, A, B, C, D and E.

What is the probability that A,B, C finish first, second

and third respectively?

Watch Video Solution

300. In a relay race, there are five teams, A, B, C, D and E.

What is the probability that A,B and C are first three to

finish (in any order)?

Watch Video Solution

301.  is :lim
x → − 1

[1 + x + x2 + .... . + x10]

https://dl.doubtnut.com/l/_kCAoHQzypCii
https://dl.doubtnut.com/l/_FGTPvUZV31aP
https://dl.doubtnut.com/l/_FQrnegtXNuYW


A. 1

B. 10

C. 0

D. None of these.

Answer:

Watch Video Solution

302.  is :

A. 3

B. 12

C. 21

lim
x → 3

[x(x + 1)]

https://dl.doubtnut.com/l/_FQrnegtXNuYW
https://dl.doubtnut.com/l/_JuWWXag7k9wq


D. 0

Answer:

Watch Video Solution

303.  is :

A. 1

B. 0

C. 

D. 3

Answer:

W t h Vid S l ti

lim
x → 1

[x3 − x2 + 1]

−1

https://dl.doubtnut.com/l/_JuWWXag7k9wq
https://dl.doubtnut.com/l/_kEpLZOG5uVYH


Watch Video Solution

304. When a coin is tossed three times, the number of

possible outcomes is :

A. 3

B. 6

C. 8

D. None of these.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_kEpLZOG5uVYH
https://dl.doubtnut.com/l/_CiJkgpJQzeCk


305. When a coin is tossed two times, the number of

possible outcomes is :

A. 2

B. 4

C. 6

D. 8

Answer:

Watch Video Solution

306.  is :lim
x → 0

(x + 1)
5

− 1

x

https://dl.doubtnut.com/l/_lerbjpG62lwe
https://dl.doubtnut.com/l/_59RXL8DXgFhA


A. 5/2

B. 5

C. 

D. 4

Answer:

Watch Video Solution

5

3

307.  is :

A. 

B. 

C. 

lim
x → 2

3x2 − x − 10

x2 − 4

13

4

7
4

11

4

https://dl.doubtnut.com/l/_59RXL8DXgFhA
https://dl.doubtnut.com/l/_00LgredPVsXQ


D. .

Answer:

Watch Video Solution

9

4

308.  is :

A. a+b+c

B. 1

C. abc

D. 2

Answer:

W h Vid S l i

lim
x → 1

, a + b + c ≠ 0
ax2 + bx + c

cx2 + bx + a

https://dl.doubtnut.com/l/_00LgredPVsXQ
https://dl.doubtnut.com/l/_uFSq5qfwdOSG


Watch Video Solution

309. Evaluate :  .

A. 

B. 

C. ab

D. None of these.

Answer:

Watch Video Solution

lim
x → 0

, a, b ≠ 0
sin ax

sin bx

a

b

b

a

310.  is :lim
x → 0

sin ax

bx

https://dl.doubtnut.com/l/_uFSq5qfwdOSG
https://dl.doubtnut.com/l/_w7tvpt9qh4rW
https://dl.doubtnut.com/l/_gM3hTOD9Ep2I


A. ab

B. 

C. 

D. None of these.

Answer:

Watch Video Solution

b

a

a

b

311.  is :

A. 1

B. 

C. 2

lim
x → 0

tan x

x

1

2

https://dl.doubtnut.com/l/_gM3hTOD9Ep2I
https://dl.doubtnut.com/l/_E7fmDWzlyCQV


D. None of these.

Answer:

Watch Video Solution

312. The value of  =

A. 

B. 

C. 

D. None of these.

Answer:

W h Vid S l i

lim
x → 1

x15 − 1

x12 − 1

1

2

5

4

2

3

https://dl.doubtnut.com/l/_E7fmDWzlyCQV
https://dl.doubtnut.com/l/_VOrz0lwspb5a


Watch Video Solution

313. The value of  =

A. 0

B. 

C. 

D. 2

Answer:

Watch Video Solution

lim
x → 0

√1 + x − 1

x

∞

1

2

314. The derivative of  is equal to :xn

https://dl.doubtnut.com/l/_VOrz0lwspb5a
https://dl.doubtnut.com/l/_ojzcEg5bX6jh
https://dl.doubtnut.com/l/_FUHR7t3LRjH6


A. 

B. 

C. 

D.  .

Answer:

Watch Video Solution

nxn − 1

xn − 1

xn − 1

n

xn + 1

n + 1

315. The derivative of  at x =1 is:

A. 9900

B. 100

C. 990

100x99

https://dl.doubtnut.com/l/_FUHR7t3LRjH6
https://dl.doubtnut.com/l/_2dqwuBXPhQ4i


D. None of these.

Answer:

Watch Video Solution

316. The derivative of sin 2x is equal to :

A. cos 2x

B. 

C. 2 cos 2x

D.  .

Answer:

W t h Vid S l ti

−cos 2x

cos 2x

2

https://dl.doubtnut.com/l/_2dqwuBXPhQ4i
https://dl.doubtnut.com/l/_WGKmBlZwueCC


Watch Video Solution

317. The derivative of tan x is :

A. 

B. sec x tan x

C. 

D. -cosec x cot x.

Answer:

Watch Video Solution

sec2 x

−cos ec2x

318.  is equal to :lim
x → − 1

(x3 − x2 + 1)

https://dl.doubtnut.com/l/_WGKmBlZwueCC
https://dl.doubtnut.com/l/_djiWhW2IKKne
https://dl.doubtnut.com/l/_WJjKYc1989Oa


A. 0

B. 

C. 1

D. None of these.

Answer:

Watch Video Solution

−1

319.  is :

A. 3

B. 12

C. 2

lim
x → 3

[x(x + 1)]

https://dl.doubtnut.com/l/_WJjKYc1989Oa
https://dl.doubtnut.com/l/_lgjQfMaqpriY


D. 5

Answer:

Watch Video Solution

320.  is :

A. 

B. 0

C. 

D.  .

Answer:

W t h Vid S l ti

lim
x → 4

4x + 3
x − 2

19

2

17
2

−
1

2

https://dl.doubtnut.com/l/_lgjQfMaqpriY
https://dl.doubtnut.com/l/_PAI954J5DFYN


Watch Video Solution

321. Derivative of  at 1 is :

A. Zero

B. 

C. 

D. .

Answer:

Watch Video Solution

1 − 4t2

−8

−5

−4

322. The derivative of  at x = 10 is :x2 − 1

https://dl.doubtnut.com/l/_PAI954J5DFYN
https://dl.doubtnut.com/l/_INbC15Fm23n9
https://dl.doubtnut.com/l/_vKDrX5SgG2Y5


A. 1

B. 20

C. 10

D. Zero.

Answer:

Watch Video Solution

323. Derivative of 99x at x = 100 is:

A. 99

B. 100

C. zero

https://dl.doubtnut.com/l/_vKDrX5SgG2Y5
https://dl.doubtnut.com/l/_PYU1QKX9Tf1k


D. None of these.

Answer:

Watch Video Solution

324.  is :

A. 2

B. 3

C. Does not exist

D. 4

Answer:

W t h Vid S l ti

lim
x → 3

[x]

https://dl.doubtnut.com/l/_PYU1QKX9Tf1k
https://dl.doubtnut.com/l/_DrKzq85Xfkd9


Watch Video Solution

325.  is :

A. 1

B. 

C. 0

D. Does not exist .

Answer:

Watch Video Solution

lim
x → 0

|x|

x

−1

326.  =lim
θ → 0

sin θ

θ

https://dl.doubtnut.com/l/_DrKzq85Xfkd9
https://dl.doubtnut.com/l/_l7qTpzUXHH0m
https://dl.doubtnut.com/l/_y77bKRY4hXtK


A. 5

B. 

C. 1

D. None of these.

Answer:

Watch Video Solution

1

5

327. The derivative of sin x cos x w.r.t. x is

A. sin 2x

B. cos 2x

C. 2 sin 2x

https://dl.doubtnut.com/l/_y77bKRY4hXtK
https://dl.doubtnut.com/l/_AZ9sAaIEsR9c


D. 2 cos 2x.

Answer:

Watch Video Solution

328. If  , then find f'(2) .

Watch Video Solution

f(x) = x2

329.  is :

A. 1

B. 0

lim
x →

[sin x]
π

2

https://dl.doubtnut.com/l/_AZ9sAaIEsR9c
https://dl.doubtnut.com/l/_Pdgkh1RsGxN8
https://dl.doubtnut.com/l/_BMwhBdp0cEdq


C. 

D. None of these.

Answer:

Watch Video Solution

−1

330. The value of  is equal to:

A. 1

B. 0

C. 

D.  .

lim
x → 0

sin bx

sin ax

b

a

a

b

https://dl.doubtnut.com/l/_BMwhBdp0cEdq
https://dl.doubtnut.com/l/_4Wk7NXn370dS


Answer:

Watch Video Solution

331.  equals :

A. 

B. 

C. 

D.  .

Answer:

Watch Video Solution

lim
x → π

2

cot x − cos x

(π − 2x)3

1

16

1

8

1

4

π

2

https://dl.doubtnut.com/l/_4Wk7NXn370dS
https://dl.doubtnut.com/l/_4D93VdUpd0f2


332. Let , then the value of 

 is :

A. 0

B. does not exist

C. 

D.  .

Answer:

Watch Video Solution

f(x) =
√x + 3

x + 1

lim
x → − 3 −

f(x)

1

2

−
1

2

https://dl.doubtnut.com/l/_80Mp9n3360gb


333. Let  and  be the roots of , then

 is equal to :

A. 0

B. 

C. 

D.  .

Answer:

Watch Video Solution

α β ax2 + bx + c = 0

lim
x → α

1 − cos(ax2 + bx + c)

(x − α)2

(α − β)
21

2

(α − β)
2a2

2

α − β

334. If f (9) = 9, f '(9) = 1, then  =lim
x → 9

8 − √f(x)

3 − √x

https://dl.doubtnut.com/l/_suCJffcQRnPf
https://dl.doubtnut.com/l/_hyzLBWSCjaLZ


A. 3

B. 1

C. 0

D. 2

Answer:

Watch Video Solution

335.  =

A. 

B. 0

C. 

lim
n → ∞

3.2n + 1 − 4.5n + 1

5.2n + 7.5n

−
20

7

3

5

https://dl.doubtnut.com/l/_hyzLBWSCjaLZ
https://dl.doubtnut.com/l/_2r90ird0O9Nn


D. .

Answer:

Watch Video Solution

−
4
7

336. Discuss the continuity of the function

A.  f(x) does not exist

B.  f(x) does not exist

C. Both limits exist and 

D. Both limits exist and  .

f(x) = lim
n → ∞

at x = 1
log(2 + x) − x2n sin x

1 + x2n

lim
x → 1 −

lim
x → 1 +

lim
x → 1 −

f(x) = lim
x → 1 +

f(x)

lim
x → 1 −

f(x) = lim
x → 1 +

f(x)

https://dl.doubtnut.com/l/_2r90ird0O9Nn
https://dl.doubtnut.com/l/_IhDGHGmiC8Th


Answer:

Watch Video Solution

337.  =

A. 0

B. 

C. 1

D.  .

Answer:

Watch Video Solution

lim
x → 0

ex2
− cos x

x2

1
2

3
2

https://dl.doubtnut.com/l/_IhDGHGmiC8Th
https://dl.doubtnut.com/l/_R3zX5Ia0qggS


338. The value of  (where  is

A. 0

B. 

C. 1

D. does not exist .

Answer:

Watch Video Solution

lim
n → ∞

,
an + bn

an − bn
a > b)

−1

339. Events A, B, C are mutually exclusive events such

that  and P (A) = , P (B) =
3x + 1

3

1 − x

4

https://dl.doubtnut.com/l/_n89YhCS0NOJu
https://dl.doubtnut.com/l/_GFBeT1jk0BUp


. The set of possible values of x are in

the interval :

A. 

B. 

C. [0,1]

D.  .

Answer:

Watch Video Solution

P (C) =
1 − 2x

2

[ , ]
1

3

2

3

[ , ]
1

3

13

3

[ , ]
1

3

1

2

340. Two numbers are selected randomly from the set


 without replacement one by one.S = {1, 2, 3, 4, 5, 6}

https://dl.doubtnut.com/l/_GFBeT1jk0BUp
https://dl.doubtnut.com/l/_jws8ypJTaGbb


The probability that minimum of the two
 numbers is

less than 4 is
a. 
b. 
c. 
d. 

A. 

B. 

C. 

D.  .

Answer:

Watch Video Solution

1/15 14/15 1/5 4/5

4
5

1

15

1

5

14
15

341. If three distinct number are chosen randomly from

the first 100 natural
numbers, then the probability that

https://dl.doubtnut.com/l/_jws8ypJTaGbb
https://dl.doubtnut.com/l/_WyHzTmFInvG5


all three of them are divisible by both 2
and 3 is
a. 

b. 
c. 
d. 

A. 

B. 

C. 

D.  .

Answer:

Watch Video Solution

4/25

4/35 4/33 4/1155

4
25

4
35

4
33

4
1155

342. Three houses are available in a locality. Three

persons apply for the houses. Each applies for one

https://dl.doubtnut.com/l/_WyHzTmFInvG5
https://dl.doubtnut.com/l/_myCsfG6s54Sj


house without consulting others. The probability that

all the three apply for the same house , is

A. 

B. 

C. 

D.  .

Answer:

Watch Video Solution

1

9

2

9

7
9

8

9

343. Two aeroplanes I and II bomb a target in

successions. The probabilities of I and II scoring a hit

correctly are 0.3 and 0.2, respectively.. The second plane

https://dl.doubtnut.com/l/_myCsfG6s54Sj
https://dl.doubtnut.com/l/_tYSvPyj8e414


will bomb only if the first misses the target. The

probability that the target is hit by the second plane, is

A. 

B. 

C. 

D.  .

Answer:

Watch Video Solution

0.14

0.2

0.7

0.06

344. The mean of the numbers a, b, 8, 5, 10 is 6 and the

variance is 6.80. Then which one of the following gives

possible values of a and b ?

https://dl.doubtnut.com/l/_tYSvPyj8e414
https://dl.doubtnut.com/l/_cb80fkVW1Lcw


A. a=3,b=4

B. a=0,b=7

C. a=5,b=2

D. a=1,b=6 .

Answer:

Watch Video Solution

345. Let . If L is

finite then

A. a=2

B. a=1

L = lim
x → 0

, a > 0
a − √a2 − x2 − x2

4

x4

https://dl.doubtnut.com/l/_cb80fkVW1Lcw
https://dl.doubtnut.com/l/_6j0YinwmmKcQ


C. 

D.  .

Answer:

Watch Video Solution

L =
1

64

L =
1

32

346. If the mean deviation about the median of the

numbers: a, 2a,......., 50a is 50, then | a | equals :

A. 2

B. 3

C. 4

D. 5

https://dl.doubtnut.com/l/_6j0YinwmmKcQ
https://dl.doubtnut.com/l/_a2WgutFY1D71


Answer:

Watch Video Solution

347. Let  be such that  exists

and . Then  equals :

A. 10

B. 1

C. 2

D. 3

Answer:

Watch Video Solution

f : R → [10, ∞) lim
x → 5

f(x)

lim
x → 5

= 0
(f(x))

2
− 9

√|x − 5|
lim
x → 5

f(x)

https://dl.doubtnut.com/l/_a2WgutFY1D71
https://dl.doubtnut.com/l/_jDUFH8SmyLsn


348. A scientist is weighting each of 30 fishes. Their

mean weight worked out as 30 gm and standard

derivation of 2gm. Later, it ways found that the

measuring scale was misaligned and always under

reported every fish by 2gm. The correct mean and

standard deviation (in gm) of fishes are respectively :

A. 1) 32,2

B. 2) 32,4

C. 3) 38, 2

D. 4) 28, 4.

Answer:

https://dl.doubtnut.com/l/_jDUFH8SmyLsn
https://dl.doubtnut.com/l/_z8Du3eHTGv0I


Watch Video Solution

https://dl.doubtnut.com/l/_z8Du3eHTGv0I

